BR7KEEAA TN\ RV o

WATERPROOF FLAT SWING HANDLES

AB/ABS-460~463-SAB-460~463

(—H)BAEBHMH 27 LI%S FRARSREREFHZEEGM (MAVERLTF) (SAB-461-1) 52 @ e AHEEOUT /v = Bkt ioTOET.
Feature o ZA AR (EHDEEIR. LS ERRESEZER
RUTLEZLY,)

® Waterproof (using O-ring and sheet
packing)

® For both left-hand and right-hand use.
(the left-hand or right-hand use can
be changed by reversing the cam and
stopper plate)

# ¥ eAB/ABS-460~463 #Ei&a% (ZDC)
® SAB-460~463 AT LA (SUS)
FMELE @ AB-460~463 Y F I hyOLHo&E
® ABS-460~463 /U IIN—2%K
® SAB-460~463 /N7 =1V INTHE
A & oEER -HER i Z0Mm&EBOX
i % eF¥—%S 'H200

Material @ AB/ABS-460~463/Zinc alloy(ZDC)
® SAB-460~463/Cast stainless steel
(SUS304)
Finish @ AB460~463/Satellite chrome plating
® ABS-460~463/Silver coating
@ SAB-460~463/Hair line finish
Specific Use @ Electric distribution and control panels, etc
Remarks @ Key No/H200

HAREDILDHEBHTRARI G EABFIED % [FEABIEH |

#l
AL
&
#
-
#

JAYA 92
avy

DRHERERLET,
m & i & B EH()| A 8| % ffi
Product No. Remarks Weight Lot Price
AB-460-1 RFE 374 40 |¥1,900
AB-461-1 AB-460-2 gL 347 | 40 |¥1,900
AB-461-1 RFE 494 40 |¥2,000
AB-461-2 BImL 458 40 |¥2,000
AB-462-1 RFE 297 56 |¥1,600
AB-462-2 HEL 288 56 |¥1,400
AB-463-1 RFE 222 80 |¥1,800
AB-463-2 REL 215 80 |¥1,150

ABS-460-1 | ILN—2%/FE 374 40 |¥2,100
ABS-460-2 | 2 LN—25/BEL 347 40 |¥1,900
ABS-461-1 | JILN—2%/BHE 494 40 |¥2,300
ABS-461-2 | 2L N—25/8EL 458 40 |¥2,000
ABS-462-1| S N\—2%/#4& | 297 56 |¥2,000
ABS-462-2 | 2 N—25/8EL 288 56 |¥1,700
ABS-463-1 | ILN—2%/BfFE 222 80 |¥1,800
ABS-463-2 | J L N—25/BEL 215 80 |¥1,500

SAB-460-1 BIGE 400 10 |¥10,000
SAB-461-1 BIFE 540 10 [¥10,000
SAB-462-1 BIGE 321 10 |¥8,500
SAB-463-1 BIFE 249 10 |¥7,500

ABS-462-1

*—%%S H200
Key No.



AB/ABS-460-1:-SAB-460-1 +—twith key

AB/ABS-460-2 —m without key

12.5

35 ks> 1.5 23
Waterproof packing >

i

M6Xx12

U Y Y 7
%555 £ 90°
L+ Turn 90° 7w
s . <
,'/’ -
/

I ©
-

\
EDE/

C-44-1(13.2)

AB/ABS-461-1-SAB-461-1
AB/ABS-461 -2 #—m) without key

12
36 i/ Sv%> 1.5
Waterproof packing
v ~N 0
Y&l
S ',
E#xA E90° e
1| Turn 90° /./'/,,/"ng
./w
A )
,,,@ il
\V
(92)

SC-44-1(t3.0)
2\ Stopper plate
B f iR

Installation plate

(F—1F) With key

12.5

M6Xx12

116

EHE/
C-44-1(t3.2)
SC-44-1(t3.0) °
Stopper plate

WFFAR

Installation plate

AB/ABS-462-1-SAB-462-1 (+—t)with key

AB/ABS-462-2 &—m without key

9.9
30 BAZK/XwF 1.5~ ]
Waterproof packing

0 /]
&
! o
] d
[El&xMAE90° y
.+t Turn 90°

H-200%+x—
Key No.

LJJ:M)%/

C-44-2(t2.3)
SC-44-2(t12.5)
Stopper plate

BWAFFAR

Installation plate

AB/ABS-463-1-SAB-463-1 (x—)with key

AB/ABS-463-2 #—m without key
30 Bk St 5 22

Waterproof packing
w0
@ To}
/') = N| 7
S B Y [¢9)
[E#R 55 E90° /‘/
R @4 Turn 90°
N

12.5
M5x10

|
i
NPy
C-44-2(t2.3)
SC-44-2(t2.5)
Stopper plate

TR
Installation plate

AWBAKLE

. NV R
MR R -
Dimension of mounting hole -
L/S— Revolving central
LYY —\position of handle
To)
o
~
27

“EREREN. t1.0~2.8mm
Panel thickness applicable to install

WA
Dimension of mounting hole

L/3— Revolving central
@iﬁ:hl[,\-\position of handle

s
¥

117

27

“EREREN. t0~2.5mm
Panel thickness applicable to install

W R
Dimension of mounting hole

L/N\—  Revolving central
[E[5R==1T0) —\position of handle

iy

96

24
“EARERER. 10~2.5mm
Panel thickness applicable to install
BT R

Dimension of mounting hole

L/\—  Revolving central
[EIER -\position of handle

ly

[99]
©

24

“BAEREIL 10~2.5mm
Panel thickness applicable to install

2



DEAZATINRKIV

HANDLES OF THE KNOB TYPE

@PAT.PEND.

BEAZXTHRELTHRO.
DEARRA TN BV, F—L A THEfRiE !
DEAHEEY LT THEEICHERELET.

AB-462-3

BHK/ ¥ /11.5

Hi12.5

Waterproof packing ™\ ‘
\

@

HEgET
Locked

FREERS
Unlocked

0[O |:=
LA AN 4
stock | roris A BAZK

¥ O# e DFAMERBGIESIIEICKOT . EEETEE
Feature T,
O EDNEEH T ETHGRE LT THRRET HEHRD
FBAICEFMTY .
(I —aAPHNTVWETOT.BOEITEALIR
EHP—BThHIPUET,
o[ |~ OPEN. [Bf] ~#CLOSEDRRERD
TVLET,
o LEFRANRE (ABESLLEDHEERRT IEICEK
V). EBEDANEZDETEE)

® By rotating the knob, you can lock and
unlock.

@ Without the key, it is useful to the
opening and closing of the housing for
locking and unlocking only parties.

® Lock/Unlock states of the knob can be
checked at a glance by indicator.

® |t becomes the display of Red(OPEN)
and Green(CLOSE).

@ For both left and right use (the left or
right use can be changed by reversing
the stopper plate and adjusting washer.)

# M e HiAA® (ZDC)

FMELE @ AB-460~463-3 Y FSChOLHO>E
0 ABS-460~463-3/ Y ILIN—& %K

;] i o FiER - ER -7 Dh&EBOX

Material @ Zinc alloy(ZDC)

Finish @ AB-460~463-3/Satellite chrome plating
® ABS-460~463-3/Silver coating

Specific Use @ Electric distribution and control

panels,etc

HARBOIEDH SRR BABIEDBIEARELER]] D
BhERERLET,

¥Mounting screw for stopper plate of this
product are recommended that are coated with
"anti-loosening" to prevent loosening

Ls  EBRfURTE

Dimension of mounting hole

LN— Revolving central
[El#zeR/0y  position of handle

\ BY |
] 1 H | ©
17N\ | NI 1 \‘\ 3
— Alle ;
\ B854 290" s EBES/12.3 |
| Turn 90° /// i Adjustment ‘
i o ‘ " washer ‘
] : I 3 3 |
i i |
| (MRS |
C
1] é"’ || i Stopper plate \
I !
\ H f
i \>L W4
\/ - ~+— . —
‘ " *AB-460-3 : t1.0~2.8mm
Installation plate -AB-461~463-3 : t0~2.5mm
Max applicable panel
thickness is
& e & B E@ A % ¥ ffi
P::duct No. Remarks Ls L2 Ls Ls Ls Le | (L) | Ls | Wi | Wz | Wa | Wa | Hi |(Hz2) t Weight Lot Price
AB-460-3 BIEL DEHM 148 | 26 |116| 13 |117|135|27.1| 72 | 35 | 26 | 10 | 27 | 9.3 | 93 | 3.2 380 40 |¥2,000
AB-462-3 BIEL DEAT 121 |23.5| 95 |11.5| 96 | 12 | 27 | 65 | 30 | 23 8 24 |99 | 77 | 23 303 56 |¥1,500
AB-463-3 BEIEL - DEAN 87.5|/23.5|/ 62 |[11.5/ 63 | 12 | 27 | 65 | 30 | 23 8 24 |99 | 53 | 23 228 80 |¥1,600
ABS-460-3 | 2 LN—2%/BEL-DEHfT | 148 | 26 | 116| 13 | 117 (135|271 72 | 35 | 26 | 10 | 27 | 93 | 93 | 3.2 380 40 |¥2,000
ABS-462-3 | I N\—2%/$#EL-DFHS | 121 |23.5| 95 |11.5| 96 | 12 | 27 | 65 | 30 | 23 8 24 |99 | 77 | 23 303 56 |¥1,900
ABS-463-3 | 2 LN\—2%/BEL-DEHfT |87.5|23.5| 62 |11.5| 63 | 12 | 27 | 65 | 30 | 23 8 24 |99 | 53 | 23 228 80 |¥1,700

3



DEAXALTNVRI

HANDLES OF THE KNOB TYPE

@PAT.PEND.

DEHNY FIVESRDPESTH. BEETEEXT.
HEfESE IS DEAZET 71T !
A2 —2TIR] [BAIIREBHERTHERTEET.

AB-153-2-3
$FS54 hyOswoE

L )
LA Ar

Bhk

W OB e DFAWMZERGEIELRILICKOT . ERETEE
Feature T,
O EDNEEH A ETHFREZT THREET HEHRD
FRAICEFTT .
(I —APRHVTVWETOT.BOIEIMEAIR
EHI—BTbOHIPUET,
o[ |~ OPEN. [F] ~>#&CLOSEDRRERD
TVWET,
® AB—153LId 7> &y FRIEDIEER A1 T TT .
oY F oA hOLHOEEI/OLDOED2TEHTE
HREZLTEVETOT. TEXDEICIEZHEE
<72,

® By rotating the knob, you can lock and
unlock.

® Without the key, it is useful to the
opening and closing of the housing for
locking and unlocking only parties.

®Lock/Unlock states of the knob can be
checked at a glance by indicator.

® |t becomes the display of Red(OPEN)
and Green(CLOSE).

® AB-153L is a one-touch mounting type.

® Please specify satelite chrome plating
or chrome plating when ordering.

o FinaE (ZDC)

oY F A N/OLH>E-JOLOHED2FE

oX1—EVI-BEER - FER-FHHE zOMhERE
BOX

®Zinc alloy(zZDC)

®Satellite chrome plating and chrome
plating

Specific Use ® Cubicle systems,electric distribution

and control panels,etc

HARBOIEDEBRFAX VI BABFIED B[ #BAIER] ] D
BREHRBLEY,

¥Mounting screw for stopper plate of this
product are recommended that are coated with
"anti-loosenig" to prevent loosening

" H
RENIE
A &

Material
Finish

WERARTE
Bk S Hi He (L) T Ls Dimension of mounting hole
Wi W; for ﬁoof/ i t 40 2-¢4.2 LiS— Revolving central
proot packing I [E#=A{> |\ position of handle
7 e C—
S a E 70 g umm— S, 5
antl B (@~
[El% 8 £ 90° ) i $— W
Turn 90° i — LR ®
e Cam plate
= / 0
g S Nkpe -
Stopper
4 plate g2
6
NV U BT R
L4 Installation N
plate
— " W
4
(Ha) W2
EHAERE
*AB-151:12.0~3.2mm
*AB-152~153:t1.5~3.2mm
*AB-154 :t1.5~2.3mm
Panel thickness applicable to install
m & s & HE (g) A%y B ffi
PrngductNo. A Li | L2 | Ls | La | Ls | Le [(L7)| Ls | W1 | W2 | W3 | Wa | Hi | H2 | H3 |(H4)| t Weight |Lot| Price
AB-151-1-3| 70L&>Z/#EL-DEMMT | 170(26.5| 160 |21.5| 161 | 22 |27.3/100| 44 | 31 | 10 | 32 | 55 (34.2| 21 | 83 | 3.2 | 675 |40 |¥3,400
AB-152-1-3| /n0L®>&/#EEL-DEHF |150| 19 [ 140| 14 | 141 (145(|27.3|100| 38 | 29 | 10 | B0 | 6 |30.7|20.5| 80 | 3.2 | 530 |40 |¥2,200
AB-153-1-3| 70L&>Z/#EL-DEATF | 110 18 |102| 14 103|145 22 | 62 | 34 | 26 | 8 | 27 | 5.8 |27.8|20.5| 53 | 23 | 400 |40 |¥2,100
AB-154-1-3| /nL®>&/#EL-DEHT | 92 [16.5| 84 [125] 85 (125( 22 | 62 (32 |24 | 8 |25 | 5 |283| 21 | 39 | 2.3 | 290 |40 |¥1,700
AB-151-2-3| 4 F51/hOLHoZ/EEL DEAT| 170 |26.5| 160 [21.5| 161 | 22 |27.3|100| 44 | 31 | 10 | 32 | 55 (34.2| 21 | 83 | 3.2 | 675 |40 |¥3,400
AB-152-2-3 | 751 N/OLH>Z/#HEL-DFAA| 150 | 19 | 140 | 14 | 141 (145(|27.3|100| 38 | 29 | 10 | 30 | 6 |30.7|20.5| 80 | 3.2 | 530 |40 |¥2,200
AB-153L-10-2-3| y F 51 /O Lo >E/HIEL-DEHF| 134 | 19 | 124 | 14 |125|14.5|27.3|/100| 38 | 29 | 10 | 30 | 6 |30.7|20.5| 68 | 3.2 | 527 |40 |¥2,500
AB-153L-8-2-3 | ¥ ¥ 5 MO L%/ -DEH| 134 | 19 | 124 | 14 [125|145| 22 | 62 [ 38 |29 | 8 | 30 | 6 |29.1|20.5| 68 | 2.3 | 478 |40 |¥2,500
AB-153-2-3| 4 F51/h/OLHoZ/BEL-DEAT| 110 | 18 |102| 14 103|145 22 | 62 | 34 | 26 | 8 | 27 | 5.8 |27.8|20.5| 53 | 23 | 400 |40 |¥2,100
AB-154-2-3#F51/MOLbo&/#EL-DEHE| 92 (165 84 (125| 85 (125 22 | 62 |32 |24 | 8 | 25| 5 (283| 21 | 39 | 23| 290 |40 |¥1,700

4



BAoKEm AL T\ RV

WATERPROOF FLAT SWING HANDLES

@PAT.PEND.

AB-152-2-1
YF51 hoObLbog

*—%5 . H200
Key No.

*—%%,SC2000

.
LA ar

Bh7K

!!!!!Il!!!l

LI

Feature

ORERLARAL Ty 1RET. LN—%5IZ EITE
ED

LENG T TTODAVAVEDZ- N ;P = It SN dAt: 3
+

0SC2000NEMNSETENTWVBEDEDHYET .
200BF—LINDOBOERBIZKS>T. ¥al7r
DR EERYELE,

0SC2000F—H{EmDI) U E—FEV 2T 57—
BET. BORZZELIBROSHTY,

O EEFKAR (EEDERI. LHRLARESE
BERLTTFELY,)

oY FSAN/OLDHH>EEYOLDH>EN2EE TR
EREZLTHVETOT. TEXDBRICIKZIETE
T&UN,

® The mechanism is incorporated that the
handle is forced out by pressing the
button.

® Waterproof. (using O-ring and sheet
packing)

®SC2000 key for improved security is
set by the management of non H200
keys.

®The cylinder of SC2000 key support is
pin tumbler structure so, insertion and
extraction of the key is smooth.

® For both left-hand and right-hand use.
(the left-hand or right-hand use can
be changed by reversing the cam and
stopper plate)

® Please specify satelite chrome plating
or chrome plating when ordering.

# ¥ o HERAE (ZDC)

FENIE oY FTAMN/OLDHOZ-/OLDH>EDN2TE

H # eFx1—EJI-BRER - HER - HHE TOMEE
BOX

fii % e+—%% "H200-SC2000

Material ®Zinc alloy (ZDC)

Finish eSatellite chrome plating/Chrome plating

Specific Use ® Cubicle systems, electric distribution
and control panels, etc

Remarks @ Key No/H200-SC2000

x1EHEC-45-200Y MERIGRDO3.20MEHVET . ZA
RAOHBEIEREERUFF<IZZN,

¥The ¢3.2 rod mounting hole on the stopper
plate(C-45-2) is also available.
Please specify accordingly if you need the
stopper plate C-45-2.

Key No. HABRGMOILDHERHTARIIE BABGLEDE [$BAHBHIEH] |
DEHEHRHLET
AB-153-2-1S
YFI4 hoOLHoZ
m & i * BE(g) A% | B i m & i & BE(g) | A% | B ffi
Product No. Remarks Weight | Lot Price Product No. Remarks Weight | Lot Price

AB-151-1-1 J0LH>E/#FE (H200) 666 40 | ¥3,500 AB-151-1-1S J0L>E/§EFE (SC2000) 670 40 | ¥4,000
AB-151-1-2 JOL®H>E/EEL 680 40 | ¥3,300 AB-152-1-1S J0LBHOE/§EFE (SC2000) 520 40 | ¥3,000
AB-152-1-1 J0LH>E/#FE (H200) 520 40 | ¥2,500 AB-153-1-1S IO L>E/§EFE (SC2000) 390 40 | ¥2,600
AB-152-1-2 JOL®H>E/EEL 540 40 | ¥2,300 AB-154-1-1S 0 LBHOE/§EFE (SC2000) 280 40 | ¥2,400
AB-153-1-1 J0LH>E/#FE (H200) 390 40 | ¥2,200 AB-151-2-1S | # F 51 O LH>E/#EFE (SC2000) 670 40 | ¥4,000
AB-153-1-2 JOL®H>E/EEL 425 40 | ¥2,100 AB-152-2-1S | # 751 hyOLH>E/§FZ (SC2000) 520 40 | ¥3,000
AB-154-1-1 J0L&®H>E/FEFE (H200) 280 40 | ¥1,850 AB-153-2-1S | # F 51 /O LH>E/#FE (SC2000) 390 40 | ¥2,600
AB-154-1-2 JOL®H>E/EEL 255 40 | ¥1,600 AB-154-2-1S | # 751 hyOLH>E/§FZ (SC2000) 280 40 | ¥2,400
AB-151-2-1 YF 4 OLH>E/EFE(H200) 666 40 | ¥3,500
AB-151-2-2 YFZINOLD>E/FEEL 680 40 | ¥3,300
AB-152-2-1 YF 4O LH>E/EFE(H200) 520 40 | ¥2,500
AB-152-2-2 YFZNOLD>E/FEEL 540 40 | ¥2,300
AB-153-2-1 YF A hOLH>E/EFE(H200) 390 40 | ¥2,200
AB-153-2-2 YFZNOLD>E/FEL 425 40 | ¥2,100
AB-154-2-1 YF 4O LH>E/EFE(H200) 280 40 | ¥1,800
AB-154-2-2 YFZNOLD>E/FEEL 255 40 | ¥1,600

5



(F—1H) With key
(¥—#&) Without key

(F—fH) With key
(¥—#%) Without key

55 34.2 (27.3) 100 (C-43R) _
44 BhA/¥y%> /11.0 (131 [13.2 w[ 40
0 Waterproof packing | -MeX12 &N
Pany /B ﬂ i
NINEE=Y A '
Tun 90° 1 i \:\éjAﬂi(ltS) .
‘ ot i\ Cam plate 3
| e NN fosin  ©
; TN “\  Stopper plate
H® BAFUHR
I% Installation plate ‘
T 31
H200&x—
Key No.
I (F—f1) With key
(F—1%) Without key
307 (27.3) 100(C-43R)
38 BhAK/S%  t1.5— | [22.5]13.2 40 . 2442
Waterproof packing M6X%x12 < ‘ ?/
- g L |
N2 , I =
ik ~ A ) —
i EAEZ0° S S\ P N
L Tum 900 S I\ LR (13) <
} /,\\@ ‘ Cam plate o !
! LN /\)48'0_ ‘1 1EH£(13.2) i _@_ \2—M5X12
1 e I\ Stopper plate | i
PUSH) Installation plate it
f
(80) 205 29 H200%%—
Key No.
(F—11) With key
(%—#8) Without key 100(C-45-2L)
58 27.8 22) 62(C-45-2)
34 B/ Yo% 1.5 255]12.3
Waterproof packing M5X10
| N
4 T\
(A2 ifls
Il | mea o0 T HLiR(12.3) - >
L, Turn 93" ‘ Camplate & s//o
ah | ipe23) Eﬂk
L \TJ | . Stopper plate e I\ \M5X12
=) BHR |
N—— Installation plate s
26
H200&x—
#AB-153/154HICIE. LEHEC-45-2000 5847 (RE62=>100) HHEVET . CARDHEIE. HHEET S0, Key No.

100(C-45-2L)

5 283 (22) 62 (C-45-2)
Bhzk/¥y%> 1.0 ‘ 26 _[12.3 30 242
Lr)Waterproof packing "\ 1 ~M5%10 | ,
T e ] T —— 2
A & g o a0
EAE£90" \ N opotrd) & Ne= Z
o A . [o0] ——
4 Tum 90 . V5 . Cam plate b \\/<>/
o |\ k»£(t2.3) ==
\.  Stopper plate
| Bt Mox10
(39) |21 Installation plate 24
H-200&+x—
Key No.

MR RTE
Dimension of mounting hole
L/S—  Revolving central
lﬁliiqﬂlbjp‘osition of handle

161

“BRFEREN12.0~3.2mm
Panel thickness applicable to install

WW A RTE
Dimension of mounting hole
L/N\—  Revolving central
lﬁlﬁiqﬂfb\ position of handle

s

141

30
EREREIL t1.5~3.2mm
Panel thickness applicable to install

MBI ATHE

Dimension of mounting hole

L\— Revolving central
lﬁlﬁﬂhlb\position of handle

INE

103

SBRREREIL.t1.5~3.2mm
Panel thickness applicable to install

WA R &

Dimension of mounting hole

LiN—
EECT

Revolving central
position of handle

,Jy,ﬁ

85

|

|

|

|

|
25

SERERE. t1.5~2.3mm
Panel thickness applicable to install



BAoKEm AL T\ RV

WATERPROOF FLAT SWING HANDLES WITH INDICATOR

@PAT.PEND.

Y A AOEFRICERBED/N FIVERUBEZE LN RFR)
100 - BODZBIRDAIEET T,

(IEDHEMFFAEN)

B Z1000FEDERKICY Y F LNV RILTT,

SET. EROBEERBLTN\Y RLOY A XDEEICEDONTOEEATLED?

SETEDP L&D EVVWTALZXD/NY RILTT,

*—%% H200
Key No.

38

BhZK/SyFx/11.5

(68)

AB-153L-8-2-1N

Unlocked

¢ q q
0|0
stock | ronis | Bi7K

¥ A eFETAADEFRDTIICHERALAEYAIXDNIR
Feature JL 9.
® 100-8ONERHATEETY . (LLDHERFARN)
oI r—a&XIE. B BB IREHA—BTH
F 38
o [F ] -7, [BAl ~BEORRELO>TVET,
0 Ay FRIEHHEEE DT N RILERFEE
HEHTT.
O EAFARFRAEESLLEHEERRT ZLICK
V), EEDANE D ETHEE)

®|t is a handle of the size applied to the
medium size BOX.

@10 O and 8 O can be selected. (Square
shaft size for stopper plate mounting)

eWith an indicator, you can see the
locked state of the key at a glance.

@ "Open"—red, "Closed"—green.

® The one-touch temporary fixing function
makes it easy to install the handle.

®For both left and right use (the left or
right use can be changed by reversing
the stopper plate and adjusting washer.)

B eE#EE (ZDC)

JMALIE oY F S /OLDOE

A & oEER HER HIHE ZDMEEBOX
fii % eF—%S/H200

Material @ Zinc alloy(ZDC)

Finish eSatellite chrome plating

Specific Use ® Electric distribution and control panels,etc
Remarks @ Key No/H200

HARBOIEDH SRR BABIEDBIEARE LR O
BhEHRERLET,

¥Mounting screw for stopper plate of this
product are recommended that are coated with
"anti-loosening" to prevent loosening

MINEABRESETE,

¥Please contact us for the delivery date.

B fHFRT

7

A

LAN—EgEzdi

v

©
<
B O S

h
ki

| il

o

\Jm@
20.5 29
AR
(R DEE

NIV RICIESHBEICE ST,
BNV ORIEDH EIEETT

125

30

HARERE. t1.5~3.2mm

P:gductﬁo. g‘-‘emarz H L1 (L2) P Lw t EWeiigr(ﬂg) ﬁo%l %ricigﬁ
AB-153L-10-2-1 1or—4ft&| 275 | 100 | 27.3 | 40 10 3.2 527 40 ¥2,600
AB-153L-10-2-1N |15 —%%L| 27.5 | 100 | 27.3 | 40 10 32 527 40 ¥2,400
AB-153L-8-2-1 1Vor-4it&| 268 | 62 22 30 8 2.3 478 40 ¥2,600
AB-153L-8-2-1N |1>o5—4&L| 268 | 62 22 30 8 2.3 478 40 ¥2,400

#AB-153-2-1DIEHEETHRITE (H) [325.5TT



AT L ABBKERAAL TN RIL

STAINLESS STEEL WATERPROOF FLAT SWING HANDLES (—#)AAEZ## 270 1%% FRRREESRTXHEESE SR (MAVERLTF) (SAB-152-1)

SAB-152~153sus)

#—%%/H200 ——

Key No.
SAB-153-1

I SAB-152-1 G—twith key

8 6.5 _30
Bhzk/ty% /12.0 t3
e M6 x 12
—703] |
| ~—
R i) /
El%5 £ 90° 7 his

1ED£(t3)

U\fmﬂi t3)
N
\

i Nmttii
I SAB-153-1 ¢—mwithkey
6.3 _27
34 BhA/Su% /12,0 251 12
Waterproof packing M5x10
1
7 ',
{~hH2 =
\\_L’ ~—
|||l | =2 90" HLIR(2)
Turn 90° Camplate 2

1EHE(12)

R

plate

SAB-152-1

[V

—

Stopper plate

Installation

#
i
fg
L3
&8
#

B e XFULAWTHEMICEATUET.
Feature @REENLAKA Ty 1BIET. LN—%BIX EIFE o
=y
O ELHARN (EENEER DS EARELEE =22
BLTLEELY)

® Stainless steel handle of excellent
corrosion resistance.

® The lever can be flipped up by pressing
the push-button.

® For both left and right use (the left and
right can be changed by reversing the
stopper plate and adjustment washer.)

# H eXFULA(SUS304)

FEWLIE ONT—FAVINTHRE

B & eFxa—bEJI-RBEE HER -HHE - FOMEE
BOX

fis = ox—%%S 'H200

Material @ Cast stainless steel (SUS304)

Finish eHairline finish

Specific Use ® Cubicles, distribution boards, control
boards, various boxes

Remarks @ Key No/H200

HARMODIEDHEEFF AR IS ARABEIED % [FRABH IR
DEREHBEHRLET

@ B fi % B ZE(®| A ¥ B i
Product No. Remarks Weight Lot Price
SAB-152-1 BfE 651 10 ¥10,500
SAB-153-1 B|iFE 444 10 ¥9,500
WA R
Dimension of mounting hole
27.3) 100 (SC-43R) l_/l(T Revolving central
200 2-p4 2 @i;q:uu\ position of handle
\ 7/ —
i _7%77__%
il - N
1 ] | |
(= = \
@ 3|
o | ‘
< ‘ |
"y ‘
|
| | 3‘0
o9 H-200%*—  #ERMEILH15~32mm
Key No. Panel thickness applicable to install
W&
Dimension of mounting hole
L/A\—  Revolving central
22L62 (5C-45-2 &>\ position of handle
‘ 2-¢p4.2 -\
I
& INENE
. | G
: 5

103

“EREREN. t1.5~3.2mm
Panel thickness applicable to install




—EOVIKEmAAL TN RV

DOUBLE LOCK WATERPROOF FLAT SWING HANDLES

ESERF
Locked

lo,

FREER
Unlocked

Bhzk/¥y%2 /1.5

Waterproof packing

) S

)

(

=

e

Eé 5 F290° .
Turn 90° 4

¢« o
’e’e

ik

!!!!!Il!!!l

LI

Feature

O BIREEZMESE T HRICK O T EICHESRETEEY,

O ELPHIKAA T TINDT. RETY,

® AB—153LIE7 8y FRIEDIEER 1T TT,

o EEFMRRAH (EEDKEISILD S EFARERER
ELTLZZEW)

® Can be double-locked by a padlock

e Fully waterproof, safe type.

® AB-153L is a one-touch mounting type.

@ For both left and right use (the left and
right can be changed by reversing the
stopper plate and adjustment washer.)

# ¥ e HEAA® (ZDC)
OB /AT LA (SUS)
FELIE e JOLH>EZ-YFIAM/OLDHOE
)i:] i= eX1—E/IL-BEERE TR Hl#HE ZotheEB
(0).¢
fis % o+ —%5 'H200
Material @ Zinc alloy (ZDC)
® Pin/Stainless (SUS)
Finish eCr plating-Satellite chrome plating
Specific Use ® Cubicles, distribution boards, control
boards, various boxes
Remarks @ Key No/H200

HAREDILDHEBFTRARI IS EABFIED % [FEABEIEH |
DEREHREHILET

72y FRIESHHEEE (AB-153L1)—X)
R 1ESHER M %
INZIVEATRICIESHBEICE ST,

R ICNRILDRIESHD RIBETT

WA AT &
Dimension of mounting hole
L/N— Revolving central

\ 1
\Cam plate «

EoHE
Stopper plate

\Eiﬁtﬂli

[EIETR=2VI position of handle

N_ s

=

|

=l

La

FISH | |
— ) Installation ;y Wa
(Hs) plate _
Wa EABEREE. t1.5~3.mm

Panel thickness applicable to install

B e L9 Lt | Lo | La | La [(Ls)| Le | W1 | W2 |Ws | Wa|Hi |Ha |Ha)| t | P %\Eéﬁt’ oo Ll
AB-152-1-1W 00L& 150 | 19 | 140|141 (27.3|100| 38 | 29 | 10 | 30 6 |27.5| 81 | 32| 40 550 40 |¥4,700
AB-153-1-1W J0LSH>E 110| 18 |102|103| 22 | 62 | 34 | 26 8 27 | 5.8 |255| 53 | 23 | 30 358 40 |¥3,700
AB-152-2-1W YFIANOLDHOE 150 | 19 | 140|141 (27.3/100| 38 | 29 | 10 | 30 6 |27.5| 81 | 32| 40 550 40 |¥4,700
AB-153L-10-2-1NW| YFIANOLDHOE 134 19 [124|125|27.3|100| 38 | 29 | 10 | 30 6 |27.5| 68 | 32| 40 537 40 |¥3,800
AB-153L-8-2-1NW YFIAMOLDHOE 134 | 19 | 124 (125| 22 | 62 | 38 | 29 8 30 6 |26.8| 68 | 23 | 30 486 40 |¥3,800
AB-153L-10-2-1W | Y F 51 hoOLsbo>&E/A1>I—4&1+ | 134 | 19 | 124 |125|27.3{100| 38 | 29 | 10 | 30 6 |27.5| 68 | 32| 40 537 40 |¥4,000
AB-153L-8-2-1W | Y F S /OLD>E/ (I —41f+ | 134 19 | 124 |125| 22 | 62 | 38 | 29 8 30 6 |26.8| 68 | 23 | 30 486 40 |¥4,000
AB-153-2-1W YFIANOLDHDOE 110| 18 |102|103| 22 | 62 | 34 | 26 8 27 | 5.8 |255| 53 | 23 | 30 358 40 |¥3,700

¥k £ C-45-20 0y MERRH ¢320MbH ) 7,
ZAHDBERREER LTI <0,

9



.
LA ar

Bk

SRFMEDEAXLT/NRNI

HANDLES OF THE KNOB TYPE WITH METAL FITTINGS FOR PADLOCK

AB-152~153-3W

@PAT.PEND.

BT

W O# eDEALITH.ASICHREZI T TEORMZ
Feature EIFJHELHIHRKET.
O DFAMEMEZI LRI EICK T EREFETEE
ER
O HNEEHTE TRMRE IS THMAEET ZERFRD
FAEAICEFITTY .
O EERMAR GIRERLIEDEZTRY Ltk
V). ERDANEZDATEE)
® AB—153LIZ7> 8y FRIEDIEER 1T TT .
oY F AN/ OLHO>EEI/OLDOED2BETE
HREZLTHEVET DT, TEXDRICIEZIEE
<FEEL,

® |t can be locked and unlocked just knob,
it can also be further put a padlock.

® By rotating the knob, you can lock and
unlock.

o Without the key, it is useful to the
opening and closing of the housing for
locking and unlocking only parties.

@ For both left and right use (the left or
right use can be changed by reversing
the stopper plate and adjusting washer.)

® AB-153L is a one-touch mounting type.

N BRI

avy

]l:m:an]__

Locked i e Please specify satelite chrome plating
or chrome plating when ordering.
AB-152-1-3W ¥ ® em@AR(ZDO)
' ’ HEANE 04 F 51 NOLD>E-IOLDH>EDAE
A & exi—EJI BEER SER HHE ZOMERE
BOX
ARSRES 55;1??;%'3% Material ®Zinc alloy(ZDC)
Finish eSatellite chrome plating and chrome
Unlocked i
plating
Specific Use ® Cubicle systems,electric distribution
T2 s AR IR and control panels,etc
HARBOIEH SRR G BABFLEDBIEABF LR D
“AB-153L3U—X 1 BREHRBLEY.,
REDEHE ¥Mounting screw for stopper plate of this
SVBRRI-SHSWILT product are recommended that are coated with
BRICAALVOREDHERETT.  ngnti-loosening” to prevent loosening
W FRTE
Dimension of mounting hole
Wi (Ls) Le L/N— Revolving central
HW Hz ‘ P T 2.04.2 [E]&5 =0y position of handle
RhzK/ %2 /1.5 i | ' =
@ / Waterpréof ;acking ‘ - = j i
) 3 ] Sifl177¢ 2 -
i ( | 7 @ i
— d &
E#ERAZ0° o ] N
Tumn 90° % \ g% Q*\
~ Nt 3
| | \Cam plate «
LT LoE Eod
T Stopper plate g
Uil Emy L i
W \
IS \ magiri L i
|\ — e Installation — Wa
AB';E’%W (Ha) plate R
Hﬁgw ‘ Wa ERAREAREE. 11.5~3.mm
A= Panel thickness applicable to install
B s & BHE(g) |A¥ | & ff
P:gduct e e L1 | L2 | Ls | La |[(Ls)| Le | W1 | W2 | Ws|Was| P |H1 |H2 |(H3)| t Weight | Lot | Price
AB-152-1-3W IOLHOE/EBADEH 150 | 19 | 140|141 (27.3/100| 38 | 29 | 10 | 30 | 40 | 6 |27.5| 81 | 32| 545 | 40 |¥4,500
AB-153-1-3W IOLHOE/EB+DEH 110| 18 | 102|103 | 22 | 62 | 34 | 26 | 8 | 27 | 30 | 58 |255| 53 | 23 | 354 | 40 |¥3,600
AB-152-2-3W | #F5(r/0Ls>&/€B+D%H |[150| 19 | 140 | 141 (27.3[100| 38 | 29 | 10 | 30 | 40 | 6 |27.5| 81 | 32| 545 | 40 |¥4,500
AB-153L-10-2-3W| #F5AhrOLs>&/£8+D%EH |134| 19 (124 |125|27.3/100| 38 | 29 | 10 | 30 | 40 | 6 |27.5| 68 | 32| 537 | 40 |¥3,700
AB-153L-8-2-3W| Y FSh/OL>E/€B+DFH (134 19 |124125| 22 | 62 | 38 | 29 | 8 [ 30 | 30 | 6 |268| 68 | 23 | 486 | 40 |¥3,700
AB-153-2-3W | #F5(h/0L%>&/£8+D%AH [110| 18 102|103 | 22 | 62 | 34 | 26 | 8 | 27 | 30 | 58 |255| 53 | 23| 354 | 40 |¥3,600

#iEHEC-45- 200y MERFARN ¢320MbH 1) 7,
ZAEDBERRESER LTI 2S00,

10



B57KEEmARA T I\ RIL (R Tys 1) o

WATERPROOF FLAT SWING HANDLES(push button type)

AB-102~103

OPAT PEND. B M o7y 1TV TIARDREVERABNIRILE.
- Feature Ry77vT7TRENAEZL RLTHEZRELED
N BRI B,
ovy O AFYNEBEDLE) T HIRBE DK MEEEZHKE
ERAR

o EL\ XY FBICKY . REMICHDONIZFhTEIEREE
SR,

O LEFRAN (EENERER. LHREHEESE
ERLEY)

O R —RR T AX—MaR=v I FH 12,

@ Button implanted handle of push-up
type is; Its pop-up angle is large and the
handles's length is long, so it is easy to
hold and control.

® The waterproof performance is great in
or part of its rear birm.

® The plating is applied liberrally so
it works very well to protect it from
becoming rusted or corroded, and it
also looks superior.

e |t can be used in both ways for right and
left-handed people. (For changing from
right-handed or vice versa, just reverse
the fastening nut and the control board.)

®|t is designed as button-built in style and
looks very sophisticated.

W H eEHAE(ZDC)
FRMELE e Y FSAMN/OLDOE-IOLDHOED2TE
s0bLHoE BOX
i % ex—%S 'H200
O ILHERFT2LEATDEDEHVET
o F—HLEDHWET.
0SC-2000DF— U4 —%t YT 2L H

#
3
[
=
B
#

T7,
WA Material ®Zinc alloy (ZDC)
$—%®2 H200 | Finish Two kind of Cr plating and Satellite
Key No. chrome plating.
Specific Use ® Cubicle systems,electric distribution
and control panels,etc
Remarks @ Key No./H200
e Have 72L-type stopper plates
® Have products without key
XAHFOIEHERFAXIIE. BABHLED BB AR D
2haERLET,
¥Mounting screw for stopper plate of this
product are recommended that are coated with
"anti-loosening" to prevent loosening
AB-103-2-1
Y7o/ hoOLho&
m & 5 & B E(| A ¥ -]
Product No. Remarks Weight Lot Price
AB-102-1-1 IOLDHOE/EIFE 569 40 ¥2,800
AB-102-1-2 JOLDOE/HEL 601 40 ¥2,400
AB-103-1-1 IOLDHOE/EIFE 416 40 ¥2,400
HLUXT IBEHED AB-103-1-2 JOLDOE/HEL 440 40 ¥2,200
KL<KEYFELE, AB-102-2-1 YFSANIOLDHOE/EFE 569 40 ¥2,800
AB-102-2-2 YFSAMyOLD X /BEL 601 40 ¥2,400
AB-103-2-1 YFSANIOLDHOE/EIFE 416 40 ¥2,400
AB-103-2-2 YF AN OLDOE/BEL 440 40 ¥2,200

*ARROULDEBF ARV BHHIEOR [EHBILH] OBHERBRLET
11



AB-102-1 - with key

AB-102-2 =—m without k
osteey 9 29.4 (27.4)  100(C-43R)
20.7 |87 40 | _140(C-43L)
38 BhAK/Yyx> 1.0 M6x12 2-¢p4.2%
Waterproof packing ‘\ ?/
I _]: N
O To) o
( Xf’ I % 3I ‘ < <
-4 L e g
[E5£ 290" ey ? O
_ b Tum o0® e o | ‘ &
A D ‘ ‘
| ,/§\<@; | 2 |
| ) — | RS (12/13) 4@§%
i -~ | Adjustment
@[ N ! washer Tl
S ‘ |
LkL o
EHg,/C-43 o
% | (t3.2)88
N | Stopper plate ] I
(95) 17.5 29 H-200%&%—
BT R 2-M5x12 Key No.
Installation plate
I AB-103-1 &—thwith key
AB-1 03'2 (*—%&) Without key
8 294 (27.4) 100(C-43R)
20.7 187 40 T _140(c-43L)
34 B/ Y% /1.0 M6x12 2-$4.27%
Waterproof packing ‘ P/
A a
e <
§ QI | . |
N Q
N
: o <
!l =}
|
| REES
| (t2/13) =
1 L! Adjustment C]
(67) 17, Qasher 26
B 1R k% C-43 2-M4x12
Installation ~ (t3.2)SS H-200%%—
plate Stopper plate Key No.

RES—LBIET B>

There are arrow.
m
>
4

BEEOR (KEtED)  EEEOR (REEED)
While turn right While turn left
(clockwise) (counter-clockwise)

ER7AE

AWBAKLE

WA R S
Dimension of mounting hole Ry
L/\—  Revolving central
(I _\ position of handle
-
I
|
|
|
5 | |
o
\
\
|
|
30

SEAERER. t1.5~3.2mm
Panel thickness applicable to install

WE TR~ iE

Dimension of mounting hole

Revolving central
position of handle

I 0
BEE

RI//\'_@EEP’L‘

103

“EAREREN. 11.5~3.2mm
Panel thickness applicable to install

RE DV R ERENDREEIC, fE>THUTIELE.,
LIN=H &Y ZAL=ZNT 2Ty TENET,

The lever is pushed up more smoothly when the button
is pressed in a direction(W¥).

12



BR7KEEAA TN\ RV o

WATERPROOF FLAT SWING HANDLES

AB-251~254-AB-253-1S~254-1S

OPAT.PEND. B B eELERBN (EENEEIR. LHELARESE
Feature  ELHRLTTELY)
O Y F AN OLDHH>EEIOLDO>ED2EHETR
HLEZLTHVETOT, TEXDBICIEZIEE
TE0.
®0AB-253-1S~254-1SIZI1ESC2000D #EH
SETENTWET . 200FF—LUAHOBEBDOEEIC
Fo T EF2UFrDELEERYEL .
0SC2000F—H DI E—ldE> 42> T5—
BET. BORIZELDPLDHONTY,
® For both left-hand and right-hand use.
¢~ ) (the left-hand or right-hand use can
& be changed by reversing the cam and
W stopper plate)

#
3
[
=
B
#

N BRI
avy

W ® Please specify satellite chrome plating
+—%&E /H200 or chrome plating when ordering.
Key No. ©SC2000 key for improved security is

set by the management of non H200
keys. (AB-253-1S~254-1S)

® The cylinder of SC2000 key support is
pin tumbler structure so, insertion and
extraction of the key is smooth.

¥ H eEHRAR(ZDC)
FELE oY FSAM/OLDOE-IOLDHOED2TE
A & eFai—EVI-RER FER - FIHR ZOMEE
BOX
i % e*x—%&S 'H200(AB-251~254)
o +—&% 'SC2000 (AB-253-15~254-18)

Material @ Zinc alloy (ZDC)
Finish eSatellite chrome plating/Chrome plating
Specific Use ® Cubicle systems, electric distribution
and control panels, etc
Remarks ® Key No / H200 (AB-251~254)
eKey No / SC2000 (AB-253-15~254-1S)

HARBOIEHEIFARIIE. BABLEDABIRABE LR D
BhEHRBLEY,

¥Mounting screw for stopper plate of this
product are recommended that are coated with
"anti-loosening "to prevent loosening

AB-251-1-1
JObL&->E

*—%% /SC2000

Key No.
AB-254-2-1S
YFSA hoOLHo&

m B i & BE(g) | AY ]
Product No. Remarks Weight Lot Price
AB-251-1-1 JOLBHOE/FEIFE 816 40 ¥3,900
AB-251-1-2 JOLDOE/FEEL 748 40 ¥3,500
AB-252-1-1 JOLSH>E/EGE 668 40 ¥3,000
AB-252-1-2 JOLHOE/BEL 613 40 ¥2,800
AB-253-1-1 JOLD>E/EFE 404 40 ¥2,500
AB-253-1-2 JOLDH>E/EEL 377 40 ¥2,300
AB-254-1-1 JOLSHOE/RIFE 341 40 ¥2,200
AB-254-1-2 J0L&so>E/EEL 332 40 ¥1,900
AB-251-2-1 YFIANOLHOE/RBIFE 816 40 ¥3,900
AB-251-2-2 YFIANOLH>E/BEL 748 40 ¥3,500
AB-252-2-1 YFSANOLDOE/RFE 668 40 ¥3,000
AB-252-2-2 YFIANOLD>E/BEL 613 40 ¥2,800
AB-253-2-1 YF AN OLDOE/RFE 404 40 ¥2,500
AB-253-2-2 YF AN OLDOE/BEL 377 40 ¥2,300
AB-254-2-1 YFIANOLHOE/RBIFE 341 40 ¥2,200
AB-254-2-2 YFIANyOLH>E/BEL 332 40 ¥1,900
AB-253-1-1S IO L&>E/§E+E (SC2000) 404 40 ¥3,000
AB-254-1-1S 0 LB->E/§RFZ (SC2000) 341 40 ¥2,800
AB-253-2-1S | YF51hyOLH>E/#{$E (SC2000) 404 40 ¥3,000
AB-254-2-1S | #F5hyOLH>E/§FE (SC2000) 341 40 ¥2,800

13



AWBAKLE

AB-251-1 @—mwith key

_ _ PN WEAT Nt NV RN
AB-251-2 &-mwithout key 1o 31 (27.3) 72(C-45-1) Dimension of mounting hole avy
44 Bk S 10— M6 x 12 ‘ 4F0 2-94.5
Waterproof packing ] L — |
(A~ 2 I — R
1N LS o
e P E o NS 4{\\ _
|| mEmmeo g Rasmees | % | oo
L_tt+"Turn 90 ///x > | Cam plate 2 5 \ position of handle
e ’0\3 ‘\ - i i
X SN kw2 (3.2) !
A,\ //\ ya Stopper plate \
@ B R [ﬂ |
W Installation plate |
L ; ‘ 32
‘ (115) 212 \]/ ‘ -
H-200%&*— EAERE I 11.5~4.0mm
Key No. Panel thickness applicable to install
AB-252-1 - with key W ARt
AB-252-2 (F—#) Without key Dimension of mounting hole
11.§ 28 27.3)T 72(C-45-1)
40 Bk ¥y%> /1.0 M6x12 140 2-¢4.5
— Waterproof packing |\ J 7( | _Im'
< =1l ‘ 0
ik I i = e
o e - N2 | | -Vi-Egl
_ S ¥ Qo / Revoling cential
! @§3ﬁ§90° //\ - L4R (t2.3) <>\ — ‘ position of handle
] Tumn 90 VA ‘\ Camplate  Q N ‘
NGB ;‘\ 3 |
SN T LN 1Ep4 (13.2) |
w SN Stopper plate |
e % 411 E] |
M ﬁ Installation plate | 30
‘ (101) 29 H-200%*x— ERFEREIE. 11.5~3.2mm
Key No. Panel thickness applicable to install
~ R ~ N ) MIEHEC-45-200 v MERUERY ¢ 320MbH ) T,
AB 253 1 AB 253 1S(4‘-ﬁ')Wlth key :lﬁﬁ@ia%ﬁliﬂuiijﬁﬂi bﬁl;< &N, s
AB-253-2 —mwithout key MR L .
11 26 (22) 62(C-45-2) Dimension of mounting hole
35 Bhk/SoF 1.0 M5x10 q__ 2042 LA—EehD
Waterproof packing |\ | 7( Revolving central
0 x position of handle
e in ol — 2 IR
L s N e
T I s 5 |
LA = e H LR (12.3
Turn 90° // NS I Carj]l p(Iate) S QQ) 8 |
s i - - \
avds Nitwe (23) LLIIN ‘
i M5x12 |
450 Stopper plate e ‘
] 1R — ;
(77) Installation 27
plate 26

SERFERE1.5~3.2mm
Panel thickness applicable to install

AB-254-1:-AB-254-1S ) with key
AB-254-2 —m without key WE AT

Dimension of mounting hole

105 26 22) 62(C-45-2) L= B
32 B/ N> 11.0——| M5x10 A
h g central
Waterproof packing | position of handle
0
- ol
‘ B (12.3) 3 o) \
1; Cam plate €2 |
I k4 (12.3) \
Stopper plate \
AR
159 Installation plate .24 ] 25
H-200%&x— SERERER, t1.5~4.0mm
Key No. Panel thickness aonlicable to install

14



BEEEPHKFER AL TN NIV (o5 —51)

PLASTIC WATERPROOF FLAT SWING HANDLES WITH INDICATOR

OPAT.PEND.

*—%% 'H200
Key No.

ABP-252-1

i i
Unlocked

LA
(RFITIRDIAH)
ABP-252-1

(ByE>RL)

D

11.5 28

27.3) 72 (C-45-1)

v o
LA A

BhK

B @ e Ir—apHuTVEITOT. RO FHIMELIX
Feature BEBHA—BThHIYET,
o[ | ~7HROPEN. [B] ~#&CLOSEDRTREXD
TLET,
o A ICEBN /S AR 2 ERAL TV E
ER
O RARD/NYFUIIBHAARBKD T, BEEDS
< BAKERREL>TVET,
o LEFRANRE (ABESLLEDHEERRT IEICEK
V). EBEDANEZDETEE)

e ock/Unlock states of the key can be
checked at a glance by indicator.

ot becomes the display of Red(OPEN)
and Green(CLOSE).

® Adopts the glass fiber reinforced resin
with excellent durability.

e High adhesion and waterproof gasket
because of embedded type.

®For both left and right use (the left or
right use can be changed by reversing
the stopper plate and adjusting washer.)

# 7 o RU7IN(PAG6-GF30)
FENLE Rt
B eJIvy

R i# e Hl{HiE-ZDith&EBOX

fi = o FX—%S/H200

O MfIRARY (M5 YET T D) DHREFHEH DI
MLIIE1.ON-mERVYET

® Polyamide(PA66-GF30)

o Wrinkle finish

®Black

® Control boards, various panels

e Key no/H200

®Recommended tightening torque is
1.0N-m for installation plate screws (M5
tapping screw).

HARGBOIEHEBTARI G BABLEDABHEABL LR D
BmEHRHLEY.

%Mounting screw for stopper plate of this
product are recommended that are coated with
"anti-loosening "to prevent loosening

Material
Finish
Color
Specific Use
Remarks

m &
Product No.
ABP-252-1

fis &

Remarks

HfE

A#y
Lot

40

L i

Price
¥2,300

BE(g)
Weight

309.4

B RHFRT &

Ny

Bh7K/ \“v#‘//tz.zj

|
24.3

LN—[E R

15

141

2yl

\

|

|

N’ |
2.M5 x 10 \

20 ‘

|

|

[

H-200%F*— HEAREREE 11.5~3.2mm



BE7KFEm AL T\ RV

WATERPROOF FLAT SWING HANDLES

AB-252-2-1W
YFS54 hyOLHoE

AB-252-2-3W
BFS1 hoOLHOE

(o]

.
e

Bk

!!!!!Il!!!l

AB-252~253-1W (ZEOYJBAKFEAL TNV RIL)

W # emmIIERRY ABICI O TIEICHEETEET.
Feature @E2BHKAATTITDT.RETY,
® EhFRMARE
(ERDEREIR. ILHEEFBEEEZFRLTTEL,)

® Can be double-locked by a padlock.

e Fully waterproof, safe type.

® For both left-hand and right-hand use.
(the left-hand or right-hand use can
be changed by reversing the cam and
stopper plate)

AB-252~253-3W (B[ ZEDEHEAIT/NIRI)

W # eDFKZLITH. EHICEREENIT TREORMZ
Feature EIFGHHEHHRET.
O DEAMEMILE B EICKOT W TEET,
O BNEEHNIECHMRELT THRFRT SERD
FRICEFITY .
O Y FSAN/OLHOEEI/OLDHH>EN2BHRTE
HLEZL THEVET DT TEXDBRICIETIEE
<FEEL,

® |t can be locked and unlocked just knob,

*—EE H200 it can also be further put a padlock.
Key No. ® By rotating the knob, you can lock and
unlock.
- o Without the key, it is useful to the
Locked opening and closing of the housing for
locking and unlocking only parties.
® Please specify satelite chrome plating
or chrome plating when ordering.
' ' # ¥ emita® (ZDC)
e R 8EB AT LA (SUS)
FENIE e UFTAMN/OLDHZ-IOLDHO>EDN2TE
H = eFX1—EVI -BER - SER-FIHE- ZOMETRE
i BOX
Unlocked
fiii = o FX—%%S AB-252~253-1W:H200
Material ®Zinc alloy (ZDC)
® Plate/Stainless (SUS)
Finish eSatellite chrome plating/Chrome plating
AB-252 ~ 253.3W Specific Use @ Cubicle systems, electric distribution
DEHLP and control panels, etc
Remarks @ Key No/AB-252~253-1W:H200
" " (L7>T Le WA ik .
W TS = Dimension of mounting hole
: \Ezlﬁgtjérpré;;;aoking N P 2-¢d LN —EgRERL N
| ‘ Revolving central position of handle
PR * = B
N T D 5 L 1=
s 7\\ 22 —‘1 ‘ @ ,,,,, %’ i 11
N 3 / k |
| | | =m0 o \s |
>0 145, | \
| Turn 90 ~ - ! )
r@ 4O / A | LR (12.3) 3 |
\ A '\ Camplate 9 ‘
M =1\ |
1Enl D W L ikt @ |
T / s ] Stopper plate ! i
IrNe o i i }
) w | - = — |
§ =i T Installation | H-200&+— !
i — plate I J Key No. ——
i Wa
(Ha) W HABMOLEHEBMFTARY —
3 Wo i BABILEOS @A EARERENE. 11.5~3.2mm
H OB HEHBHRLUET Panel thickness applicable to install
T & s & BHE(g) A¥| H i
Remarke (L1) | L2 | La | L4 | Ls | Le [(L7)| Ls | W1 |W2 | W3 |Wa|Ht |H2|(H3)| t | d | P Weight | Lot | Price
AB-252-1-1W | 70L8%>&/§#14% (H200) |158.2| 24 |140| 18 |141(18.5|27.3| 72 | 40 | 29 | 10 | 30 |11.5| 28 [101|32 | 45| 40 | 630 | 40 |¥4,200
AB-253-1-1W | 70L&>&/#{1& (H200) [120.9/21.5|/102| 13 |103|135|/ 22 |62 | 35 |26 | 8 |27 |11 |26 | 77 | 23|42 | 30 370 40 | ¥3,600
AB-252-2-1W | #75/h0bbo%/#ff% (H200) | 158.2| 24 |140| 18 |141[18.5|27.3| 72 | 40 | 29 | 10 | 30 |11.5| 28 [101|32 | 45| 40 | 630 | 40 |¥4,200
AB-253-2-1W | #1751 MOL-%/§#f% (H200) [120.9/21.5| 102 | 13 |[103|135|/ 22 |62 | 35 |26 | 8 |27 |11 |26 | 77 | 23|42 | 30 370 40 | ¥3,600
AB-252-1-3W | /0L%H>&/£B+D%#4 [158.2| 24 |140| 18 |141(185(27.3| 72 | 40 [ 29 | 10 | 30 [11.5/ 28 |101| 3.2 | 45| 40 | 640 | 40 |¥3,900
AB-253-1-3W | 70L8>%/£8+D%FH& [120.9(21.5/102| 13 103|135/ 22 |62 |35 |26 | 8 |27 |11 |26 | 77 | 23|42 | 30 380 40 | ¥3,500
AB-252-2-3W | #751M0LH-%/2E+0%4 [158.2| 24 |140| 18 |141(185(27.3| 72 | 40 [ 29 | 10 | 30 [11.5/ 28 |101| 3.2 | 45| 40 | 640 | 40 |¥3,900
AB-253-2-3W | ##751/M/0L%o%/£8+0%# [120.9/21.5/102| 13 103|135/ 22 |62 | 35 |26 | 8 |27 |11 |26 | 77 | 23|42 | 30 380 40 | ¥3,500

16



B57KEEm R A T I\ RIV (4254 — 444 %) o

WATERPROOF FLAT SWING HANDLES WITH INDICATOR
AB-260

@PAT.PEND.

#
3
[
=
B
#

B @ e Ir—apHuTVEITOT. RO FHIMELIX
Feature BEHS—BThHIET,
o [B] 7. [FAl ~BROFREL>TVET,
O KIARED /Ny F %, BikARELO>TVET,
O L AR (EADEER. LHELARES%E
BERLTTEL,)

® Lock/Unlock states of the key can be
checked at a glance by indicator

o |t becomes the display of Red(Unlock)
and Green(Lock).

e |t is waterproof specification for
packing on back side of handle body.
® For both left-hand and right-hand use.
(The left-hand or right-hand use can
be changed by reversing the cam and

stopper plate)

# ¥ oHEIRAE (ZDC)

FENE e UFFAhOLHOE

] i# o FiEME - ER-HIHE-FOmhEEBOX

fid = o X—%S 'H200

Material ®Zinc alloy (ZDC)

Finish eSatellite chrome plating

Specific Use @ Distribution-control boards, various
panels

Remarks @key No / H200

HXARGOIEDESBFITRARI I EABFIED /=8 [$EAFHIE
HllDZ2mzawRLE7.,

¥Mounting screw for stopper plate of this
product are recommended that are coated with
"anti-loosening" to prevent loosening

N BRI
avy

(7)

eSS
Locked

(D)

FREREF
Unlocked AB-262-1

*—%&5 H200
Key No.

H1 12.5 (L7) Ls W AT ik
: | Dimension of mounting hole

Bh7K/ Sy x> /12.0 Le 40 ‘ 2.4.27%
Waterproof packing ‘

L/N—EERAHD
Revolving central

) . N ] position of handle
‘ i ,j - 1|7 7] L4 1] // N g i
L /) 7 _Xr_lﬂ
| rEo0” /| I I |
| N /, 1\ sE% S (11.6) e |
\ s |  Adjustment Y \Y |
‘f-/ S Il washer L3 ‘
| N ) i i s | |
\ S/ A |l \
H@ ket |
i Stopper plate ‘
! ] i
N \ Q ‘ ‘
A1 | Wa
Installation plate Wa

H-200&+x— -#HEREIE 11.2~2.3mm
Key No. Panel thickness applicable to install

m = B BE(g) | A # | B @
L1 L2 | L3 | L4 | L5 | Le |(L7)| L8 | W1 | W2 | W3 | W4 | H1 |[(H2)| t

Remarks Weight Lot Price
¥ AB-261-1 BFZ 146 | 255 | 116 13 117 | 1835 | 271 72 33 26 10 27 125 | 87 3.2 4153 40 ¥2,400
AB-262-1 BT 125 | 245 | 95 115 | 96 12 27 65 30 23 8 24 125 | 75 2.3 3174 56 ¥2,300

MIMAABRIOAET 0,

17




HEMHEREEAA TN R o

THIN FLAT SWING HANDLES WITH SEALING

AB-453F-1

AWBAKLE

¥ & eHHTIEHHRET.
Feature @ EAFRAR N EBDEE IR LOHEERABESEE AYEL
ELTLAEELY) -
® Can be sealed.
@ For both left and right use (the left and
right can be changed by reversing the
stopper plate and adjustment washer.)

#  H eEIAH{E (ZDC)

oI/ AT LA (SUS304)
FEMNE e YFFAhyOLDHOE
B & eFEMR 5 ER FIHE Z0mMmE&EBOX
fi % e¥x—&%S 'H200
Material ®Zinc alloy (ZDC)

® Pin/Stainless steel (SUS304)
Finish eSatellite chrome plating
Specific Use @ Power/distribution boards, control

boards, various boxes

Remarks @ Key No/H200

HARMODIEHEEFF AR IS RABELED % [#EABHLEH
DEHEHBEHRLET

m & i &£ 8B E@| A B | B @
Product No. Remarks Weight Lot Price
AB-453F-1 BT 220 80 ¥2,400

W{EF Example of application

avy

AB-453F-1

*—&%, H200
Key No.

I AB'453F'1 (F—f}) With key B RE

Dimension of mounting hole

9.2 12.5 L/ S— B
28.5 Bhzk/Sy¥> /11.0 W M5x10 Revolving central
‘ Waterproof packin;‘\‘ position of handle
e ‘ N (3 ‘ i I
. ‘ | S
= = / < u \:]—, S f&L,,_:I
N 8 18 |
i / [(e] iy (0] ‘
Il || BmmEo0s [N - B2 (12.3) ¢4 o ‘ © |
[ [13 || Turn 90° b 7 N J \ cvglsuhsérrnent ‘ S @ |
- 7 45° \ rafre g —— i
I\ “-iEo® C-44-2(12.3) \ \
0 & -~ \ Stopper plate \?/ M4x10 o4
8 ¥ : H-200%% —
AT R 23 iy
(12.8) Installation plate ey No. SEEERE L. t1.0~2.5mm
(53) 12 Panel thickness applicable to install

18



Br7K BRI EmAAL TN\ RIL o

WATERPROOF THIN FLAT SWING HANDLE
AB-301~303

@PAT.PEND.

#l
AL
&
#
-
#

B OB e A—ETY 1T BT RYFEAT
- Feature ® EX\){H(FENSILHEETHORITEN12.508%

A2 AT

2I2i O AEENDY T /Ny % BKREL>TVE
¥,

o EEHMB (EEDTEI. LHSEREESE
BELEY)

® Touching type handle by pressing the
round cylinder.

® Ultra-thin structure, the distance
between the installation surface and the

b )\ lock shim is only 12.5mm.
) ® Adopt waterproof structure at the

= positions like interior cannelure and
surface of the handle.

® The special design of two-way (left and
right) to rotate concurrently (according
to the direction change, stopper plate
and adjusting washer can be turned).

# ¥ o HEIRAE (ZDC)

FENIE e YFFAM/OLDHOE

H i# o FiEMR - ER-HIHE - FOMmEEBOX

fi % o+—%% "H200

Material @zinc alloy (ZDC)

Finish eSatellite chrome plating

Specific Use ® Voltage transformer, switch box, section
board, control cabinet, and other

various kinds of control cabinets
AB-302-1 AB-302-2 Remarks @ Key no / H200

KARMODILHERFT AR IS ARABG DS [#RAHBHIEH
DEHEHRBRLET

Oy MERYTIRRER] Installation diagram of rods bar

AB-303-1 AB-303-2

A —BERY LKL R T T YT
272y F LT TT,

The touching type by pressing the round cylinder
and the handle can pop out.

ﬁl %8 @A HE)| % F

Product No. Remarks | Weight Lot Price

AB-301-1 PR e 362 40 ¥2,200

*—fj/N "(')200 AB-301-2 gramL 369 40 ¥1,950
' AB-302-1 JfFE 272 56 ¥2,000
AB-302-2 fiex::{08 264 56 ¥1,800

AB-303-1 fEbES 206 80 ¥1,750

AB-303-2 fiex::{08 197 80 ¥1,550

19



AWBAKLE

AB-3071-1 @—mwith key

% @) —— IR

AB-301-2 E-mwithout key ) L
W AT E ) avy
9_ 125 (27.1) 70 Dimension of mounting hole
83 %;Jt(ér\;;?é:cﬁn;( M6X12 4OT 2-¢4.2 L/S— Revolving central
‘ ‘ ‘ [El#zH/(» —~ position of handle
TN @ N =
] . [T
\\,,,,,,’S - / i
L Tungo” e @ =
v ‘ | Adjustment — = |
i ‘ washer ‘
‘ ko / C-44-1 |
@* (13.2) !
! Stopper plate ‘ 1
\j,/ T |
\/ WA N~ H200% =L
Installation plate Key No.
26 SEAFAREL. 1.2~2.3mm
Panel thickness applicable to install
AB-302-1 -t with key
AB-302-2 —mwithout key .
WEUT R TE
ok 9 _ 125 27 0 65 Dimension of mounting hole
30 KINyF/11.0 40
Waterproof packing M5x10 ‘ 2-¢4.2 . ;
| L/N— Revolving central
-/f>/<, B0 — position of handle
: \

245
)

N , @ 0
S 7 : |
‘ El&x 5 E90° //// I HREES i EAT <§’ |
A s “ | R 10 |
-~ Tumn 90 é\ e o ‘ W 18 e }
AN H Adjustment | @ 1 ‘
! / c H washer [ H\\ ® \
HHEM L ‘ | ks [[-2-Max8 \
@ Nk / C44-2 il o | |
\_/ : g2.3) | \JT\f | i
w topper plate ‘ | i
\m1¢c¢*& ] e
Installation plate 23 H-}%gy?ﬁ; -
EAEREE 11.2~2.3mm
Panel thickness applicable to install
AB-303-1 -t with key
AB-303-2 (¥—#&) Without key .
WEL T ~TiE
Dimension of mounting hole
9 12.5 27 65
28.5 RfiZk/Sy%>/11.0 40 . :
- M5%10 2-¢4.2 L/N— Revolving central
Waterproof packing N ‘ [E1#xFR/— position of handle
1
O ST - \’ &
,,%ﬁ, 8 ‘ 7N < 18 - ,,\L,,_:I
7 % 0 C @% \
N v RAEES  yT L ® 1
} VARN T (11.6) © (= i % A © ‘
ElERfEo0° / qil  Adjustment Z}L ! <& ® |
Turn 90° :/» / ‘! Hashimaio © } 1
n %’3 - (VAN I washer i 5 ‘ \
!! News / caa2 — |‘B |
W | (12.3) \r/ M4x8 o4
Stopper plate H-200%%—
WAFFIR 23 Key No. _
Installation plate SEAEREI. t1.2~2.3mm

Panel thickness applicable to install

20



BR7KEEAA TN\ RIV o

WATERPROOF FLAT SWING HANDLES

#l
AL
&
#
-
#

JAYA 92
avy

©

Hagiaalo

Hoshimolo

AB-351-1 AB-352-1

*—%5 H200
Key No.

AB-353-1 ¥ # e LEPUSHTLNA—HRBATZ217TY
haad Featre o AN (LENOEEILL DL AUELER
EL TS

® The lever can be opened/closed by
pressing the push-button on the top.

@ For both left and right use (the left and
right can be changed by reversing the
stopper plate and adjustment washer.)

#  H e@$pE{% (ZDC)

FEMNE e YFF/hyOLDHOE

H i# e FLEME -5 ER- -7 Dth&EBOX
fii £ e+—%%S 'H200

Material @ Zinc alloy (ZDC)

Finish eSatellite chrome plating

Specific Use @ Power/distribution boards, control
I boards, various boxes

Remarks @ Key No./H200

HARMODIEDHEEFF AR IS FBABELED % [#RABH LR

/@/@ DEHEHBEHRLET

w7

i =[EE@E A B | ¥ @
@ \) U Product No. Remarks Weight Lot Price
& AB-351-1 AN 264 40 ¥1,800
AB-351-2 SEL 237 40 ¥1,650
AB-352-1 #FE 222 56 ¥1,700
AB-352-2 SEL 197 56 ¥1,500
AB-353-1 AN 180 80 ¥1,550
AB-353-2 FEL 157 80 ¥1,350

21



AWBAKLE

AB-351-1 & with key

AB-351-2 —mwithout key [ 1A §73 .2
94 133 2.M5 x 10 (21) 75 ‘ Dimension of mounting hole avy
32 Bh7K/ Y% /1.0 M5 x 10 L/N—ElERHD
Waterproof packing ‘ Revolving central  2-R4.5
:': 3 position of handle
] , T
T . T
A7 |
||| mErEo0” /,,// I | Is |
I Tun 90 /,,// Y i H g 7] | i 0 | o
' - i | 18 g8 | | [FF
s H&L&:ﬁ/cas } o
Yo / ° -
N L (23) | fj |
/L ({:”“\;, ] Stopper plate pman °o = \
&J /’4' ) mrr.,naJ !
B g © i |
@55) |, H-200%%— 27
(73) T Key No. —
105 26 EAEREE 10.6~2.0mm
: Panel thickness applicable to install
AB-352-1 @—hwith key
AB-352-2 (x—m without key | ENEANS S
) Dimension of mounting hole
94 133 2-M4 x 10 (21)T
80 Bty /1.0 M5 x 10 30‘ L EdEy
Waterproof packing Revolving central  2-R4
B position of handle
™
a N~ B ‘_L,, 3 N
- .7 \ \
A o & T
A&REO I 8 |
I Turn 90° % ‘ O ‘ ©
| 7N w2/ cd6 | 18 29|82
fl\ = 1 ! (St2.3) | i - 0|60 ‘
|| Stopper plate o N
Y ! ES D) |
Bloshimoto , 35 cq-o NS \
N—— ‘
6
I 23 H-200% % — 24
10.5 Key No.
“EAREWREIL 10.6~1.6mm
Panel thickness applicable to install
AB-353-1 &—with key
AB-353-2 —m without key s
- 0 WE R~ i
94 133 -M4 x 1 (21 )T Dimension of mounting hole
28 Rh7k s %> /11.0 M5 x 10 30‘
‘ Waterproof packing L/N—[ElE
T\ 7 C Revolving central
| o) position of handle
=Y . e
- 7 ‘
| e LY ¥ &
El&x /A E90° Ty Il
- Tum 90° (fd e iy
gy S - e ‘
) SRS < Jo 8N
i ‘\ 23 %3 TolhNy !
-\ 1kHE / C-46 ©| \
(t2.3) NI ‘
Stopper plate __E’J__
24
H-200&x—

Key No.
Y EFREAREI. 10.6~1.6mm

Panel thickness applicable to install

22



BR7KEEAA TN\ RV o

WATERPROOF FLAT SWING HANDLES

AB-331~333

i
AL
&
#
-
#

N EL
avy

E{{r}ﬁ’l]‘.mr]rll

AB-331-1 AB-331-1

Yoshimola

AB-332-1 AB-333-1

¥ # e LEPUSHTLN—DHBEAY 2217 TY
Feature @ PUSHIR{EHVEL. FBAERDSAL—ATY,
o AAFAR (EANERIIIEHELABESZR
RLTLZZEW)

® The lever can be opened/closed by
pressing the push-button on the top.

® Smooth opening and closing of lever by
easy push-button operation.

@ For both left and right use (the left and
right can be changed by reversing the
stopper plate and adjustment washer.)

¥ H eEHRAR(ZDC)

&F i\‘ HENE 09 F A MO L%
"‘i\ )] & o FEMR-HE MR- HiHE-ZDMHh&EBOX
‘\ﬁ\ fi % ex—%&% H200
. Material ®Zinc alloy (ZDC)
4'——'?;/’\:1200 Specific Use @ Power/distribution boards, control

boards, various boxes
Remarks @ Key No./H200

ARG LLDHEBFTRARIIE EABFIED % [#EABEIEH |

DRHEHRHLET

m & fii & B H@®| A & L]
Product No. Remarks | Weight Lot Price
AB-331-1 FARES 400 40 ¥2,200
AB-332-1 FabEY 340 56 ¥2,100
AB-333-1 EAPES 244 80 ¥1,950

23



AWBAKLE

KL% C-45200 v MERATS $3.20Mb %1 £,
I AB-331-1 ¢-mwithkey & s MERFTRY 63201

CABOBARRIEBR LA LSV, WE TR AYEL
Dimension of mounting hole ‘
10 26,5 (22) 62 (C-45-2) avy
30 ik Sy% /1.5 " 30l 2.04.2 L/N— Revolving central
Waterproof packir% M5x10 | . El#xA{> \ position of handle
© ’ [ { o)
— N - [$) = [©) 1N ,,:I?—)
= 2 ATH b T
: A4 IomzEe 9 (&g — |
EEA/E0° | (23) - 7% ~ |
Lt Tun90® 7~ i Adjustment WW bl I R
/w M\washer o.MEX12 T
| SN U\ ikwg / c45-2 |
| i (23 | |
e Stopper plate ! o |
’@ /g e - EfFR W 0 ‘
o N ~- Installation plate ‘
) 27
| 60) H299]| 556 26 -~
SEARWEIZ. t10~2.3mm

Panel thickness applicable to install

I AB-332-1 @—mwith key

WEHFRTE
Dimension of mounting hole
10 265 (22)T 62 (C-45-2)
30 BhK/ Yo /11.5 2-M5x10 30 2.¢4.2 . .
Waterproof packing \ LN . Revolving central
Bz \ position of handle
-~ —J ~ - o')L 7 =] | To)
1 - ~— 5/ v ! g
)i - HiH @ — N e
I P : [ i
i - o S R ES(12.3) - !
_lrﬁlixﬁé %:90 Ads: | Adjustment 1o % o | |
- urn \ \\\ ' washer o e —
2 g / C-45-2 | |
(t23) AB-332 ‘
T '\Stopper plate PP ‘
Hoshlmato ‘
= W ' ‘
Installation plate 23 24
SEAREWREIZ. t10~2.3mm
Panel thickness applicable to install
| AB-333-1 @—mwith key \
WAL R~
Dimension of mounting hole
2-M4x10 (22) 62 (C-45-2)
) 10 26.5 30
30 BhAK/¥y%2/11.5 M5x10 2942 LA—EEr
Waterproof packing Revolving central
S 7 l 0 ) position of handle
- § 3 1 ooL o
i W‘"’? 4“ - i ]H il | @ o <t
T B © 5 S Lo
| _ . - SREEEE £ (12.3) =i
E#A 790 | Adjustment <%
i 1~ Tun 90 [\ washer
Fishimofo E@f L - 0 N
— T T I~ _AE. - I
(29.9) ‘6 ilfzy)s)ﬁ / C-45-2 23 uﬂ') %_7 !
(24) | 22 Stopper plate ‘
24
H-200&+x—
Key No. EAREREIL 10~1.8mm

Panel thickness applicable to install

24



BR7KEEAA TN\ RV o

WATERPROOF FLAT SWING HANDLES
AB-401A~403A

OB ORGFEAEDNVT - NYFIFE FKEFRELOTOE
Feature 4§,
O EERMARGH (EANKEIS. LHEEARESE
BRLTFZL.)

® Waterproof (using O-ring and sheet
packing)

® For both left-hand and right-hand use.
(the left-hand or right-hand use can
be changed by reversing the cam and
stopper plate)

#  H e@$ps{% (ZDC)

FELIE e FSAMN/OLDHOE

B & oRER TR FlEE Z0m&EBOX

fii % eF+—&FS 'H200

Material ®Zinc alloy (ZDC)

Finish eSatellite chrome plating

Specific Use @ Electric distribution and control panels,
etc

Remarks @ Key No / H200

KARMODIEHERFT RIS ARABH DS [#RAHBHIER
DEHEHRBRLET

#l
AL
&
#
-
#

JAYA 92
avy

AB-401A-1

m & fii |8 E(@®®)| A & B ffi
Product No. Remarks | Weight Lot Price
AB-401A-1 FfFE 388 40 ¥2,000
AB-401A-2 L 382 40 ¥1,800
AB-402A-1 ffFE 291 56 ¥1,700
AB-402A-2 L 292 56 ¥1,500
AB-403A-1 FfFE 225 80 ¥1,600
AB-403A-2 L 223 80 ¥1,200

AB-402A-1

*—%S H200
Key No.

AB-403A-1

25



AWBAKLE

AB-401A-1 - with key o
AB-401 A-2 (x—m without key NIEL

WA

avy

11.3 12.5 Dimension of mounting hole
33 Bh7K/¥y%> /1.0 .
h M6 x 12 LN— Revolving central
/\ Waterproof packing [EIETRE2V posntlon of handle
\ 0 . \
| 2 | - ‘ ]
( : 1= & R T+ J
NS / \
_ A/ . |
[E#RAZ90° " ’ TR ES © ‘
‘ Tunoo" ./, | (t1.6) 2 ~ :
1 S k Adjustment - — |
s 8 | \washer |
S I\ e c44-1 |
S (t3.2) |
‘ |
| {%,ﬁ p . Stopper plate 1
; TR w 27
! 7 Installation plate ‘ H200&x—
~ 88 | Key No. SEAEREI 11.2~2.3mm
(88) 26 Panel thickness applicable to install
AB-40ZA-1 - with key
AB-402A-2 x—m without key
WEUTRT &
11 12,5 27 65 Dimension of mounting hole
30 BAK/SyEL 1.0 M5 x 10 40
Waterproof packing 2-¢p4.2 L/3—— Revolving central
| g( [EIETR2 _\position of handle
1) 2 | \>/ { | B
5 & s 1B
SRl 7 0 i
|| =&EmEoor N e e o~ G |
‘ Turn 90° // 1 (t1.8) I % % 18 © \
L / P ‘ Adjustment | Q |
R h :
/- . T H\XZS;LC 44-2 - %ﬁ |
i ~4- ~2-M4 x 8
’7{$E’}’ N 4 o / (t23) ] Heshinalo E X g !
N1 M Stopper plate p ‘ ‘
| ] 1 I 24
- ;)L WA 4R V
(73) Installation plate H200%*— —
‘ 23 Key No.  -@EARERER. t1.2~2.3mm

Panel thickness applicable to install

AB-403A-1 E—with key
AB-403A-2 @—m without key W Rtk
Dimension of mounting hole

11 12.5 27 65
28.5 Rh7K/¥y%2 /1.0 M5 x 10 40 0042 L/S—— Revolving central
Waterproof packing ?( : [EIESR2N _X)osition of handle
: =L |
- g E 7 - NI |
- / /,’/\\ / washer o <>Q> %ﬁ ‘
4o E‘L\iwﬁ/o 442 =) © |
— H gtzcx?p))er plate i? M xe \ 24
= ﬁ?s{?eﬂﬁon plate H200EX—  ymeipmis t1.2~2.3mm

Key No. Panel thickness applicable to install

26



“EOVIBBKERAL T INRIL

H
L
fid
=
% DOUBLE LOCK WATERPROOF FLAT SWING HANDLES

AB-401A~402A-1W

A eOEREEMET ABICIOTTEICHE TEETY,
Feature o AAFRMRH(EANKEIIIEHEEABESEZR
E’LTLEZLWY)

® Can be double-locked by a padlock

®For both left and right use (the left and
right can be changed by reversing the
stopper plate and adjustment washer.)

#  H eEHRAR(ZDC)
O£ R AT VLA (SUS)
FEME oY FSAhyOLSHOE
A & eF1—EVI -RER HER HHE ZOMEEB
OX
fi % ex—%% 'H200

Material @ Zinc alloy (ZDC)
® Plate/Stainless (SUS)
Finish eSatellite chrome plating
Specific Use @ Cubicles, distribution boards, control
boards, various boxes
Remarks @ Key No / H200

KARMODIEDHERFT AR IS ARABHIED S [FRAHBHIEH
DEHREHRBRLET

Product No. Remarks | Weight Lot Price

N RN
avy

AB-401A-1W AB-401A-2W

AB-401A-1W | #ff= 371 40 ¥2,800
AB-402A-1W | @#ff& 273 56 ¥2,650
AB-401A-2W | #EL 367 40 ¥2,600

*—%% H200
Key No.

SEFMNEDEAXLT/I\NRIL

HANDLES OF THE KNOB TYPE WITH METAL FITTINGS FOR PADLOCK
AB-401A~402A-3W

OPAT.PEND. B A eDFAHLITH. ASLERREN I TROMEE
Featwre BT ZHEHRET .,
0 DEABEFGE L BT Ll ko T. RS TEET.
o RNBIENSTE CHFET T TR T HERD
BABAICERITY .
o EERMB (HEBLLIHEEEET ZLICk
V. EEDANEZAEE)

® |t can be locked and unlocked just knob,
it can also be further put a padlock.

® By rotating the knob, you can lock and
unlock.

o Without the key, it is useful to the
opening and closing of the housing for
locking and unlocking only parties.

® For both left and right use (the left or
right use can be changed by reversing
the stopper plate and adjusting washer.)

# H eE#AS/E (ZDC)

FEMNE e YFFAhyOLHOE

B & oFEMR 4ER HIHE-Z0MmMmE&EBOX
Material ®Zinc alloy(ZDC)

ST Finish eSatellite chrome plating
Locked Specific Use @ Electric distribution and control
panels,etc
HARBOIEDERFAXDIE BABFIED B FEAPIER]] D
BREHREBLEY,

ot

*Mounting screw for stopper plate of this
product are recommended that are coated with

AB-402A-3W P "anti-loosenig" to prevent loosening
Unlocked m & s & B 5@ A ¥ -]
Product No. Remarks Weight Lot Price
AB-401A-3W| sttt DEAaft 380 40 ¥2,700
AB-402A-3W #ReBfi2af Dxaf | 280 56 | ¥2,550

27



A LWHBIREES

AB-401A-TW - with key
AB-401 A-2W(=\’-—i§¥)Without key

I AB-401A-3W oga5147)Knob type

NI

WE T R~TE avy
11.3 125 27.1) 72 Dimension of mounting hole
33 Bhzk/¥yF%>/11.0 M6 x 12 40 2-p4.2% L/N—[@lEs )
\ Revolving central
‘ position of handle
2R B LA N——
Y ) m$ Q N B $9
- I L R / PR
=8 s J \
g‘}/ //,/_e_ 1 4 I i
& VT Nt | RS ‘
A | © ‘ S ~
F P o (t1.6) - L
//‘\\\ //// v—¢ U - | — !
il BIG el | | |
/ < ‘LQ v{ ! " H ; - ‘
PN S~ e AL 18 |
@) }/\ INNs o) [ |
T 0 | [P\ \essescaa ‘ @ *
\ T (t3.2) \ e &= 27
o 24 S—
- (88) BT AR 26 'Eﬁiﬁ_’f&lgti\t1:2~2.3‘mm
T - H200Z&%— Panel thickness applicable to install
@ Key No.
PR
AB-401A-3W
DEHER
I AB-402A-1W s—mwith key I AB-402A-3W >g8517)Knob type
27 65 IEY_ﬁH?_‘i‘TJ’if )
11 12.5 Dimension of mounting hole
\ Revolving central
/-,7/ position of handle
L I A\ |
% 2 5 NS
o 0 N |
A /,/ : ; ; ‘
// o @_ —% | ‘
s b L e g < 8 |
AR !
/S MECtN 18 |
aVilim U\ik&£/C-44-2 ] ‘ E oM x 8 . |
[ (t2.3) - |
qo° || | |
T3 | ¢ K 2:4
23 AR
(73) 23 - EEERE. 11.2~2.3mm
H200&F*x—  Panel thickness applicable to install
Key No.

AB-402A-3W
DEHEB

28



BKGERISEm AL 7\ R

WATERPROOF THIN FLAT SWING HANDLE

@PAT.PEND.

/4

AB-401-1

AB-403-2

AB-401-1B AB-402-1B

*—%5,H200
Key No.

xE—2& LIAGIKE

29

0[O |:=
LA AN 4
stock | roris I BAZK

# A OMUNIEISIEDEETORITEN12.50#EHE
Feature Hi44 7~
O KRGREN) T /Ny FF PIKEHRELROTULE

ER
o EEFRAREH (EANKEIL. LD EERBERE
BRLEY)

® Ultra-thin structure, the distance
between the installation surface and the
stopper plate is only 12.5mm.

® Adopt waterproof structure sheet
packing and reverse side of handle.

® The special design of two-way (left and
right) to rotate concurrently (according
to the direction change, stopper plate
and adjusting washer can be turned).

# H oA/ ® (ZDC)

FELIE e Y FSAN/OLDHOE KEB:HfTEE

2] i o FiER-HER IR ZDh&EBOX

fi = o X—%S 'H200

Material @ zinc alloy (ZDC)

Finish eSatellite chrome plating/B: Baked finish

Application ® Voltage transformer, switch box, section
board, control cabinet, and other
various kinds of control cabinets

Remarks @ Key no / H200

HAREDILDHEBHTRARIIE ARABFIED % [FEAB5IEH |
DERZHRBLEY

m B fa & B E(@)| A #& - ]
Product No. Remarks Weight Lot Price
AB-401-1 BfHE 341 40 ¥1,600
AB-401-2 gL 350 40 ¥1,450
AB-402-1 BfFE 243 56 ¥1,500
AB-402-2 fics 408 249 56 ¥1,350
AB-403-1 B 188 80 ¥1,400
AB-403-2 SERL 190 80 ¥1,300
AB-401-1B | 2% /8% 350 40 ¥2,100
AB-402-1B | 22%/#F& 243 56 ¥1,800
AB-403-1B | 2% /8% 188 80 ¥1,600

Oy MERTIREER] Installation diagram of rods bar

LIN—D5%ImEHL LR EICEVBRIETEET,
Only by pick up the lever of handle and it will be ok.



AB-401-1 G—thwith key
AB-401-2 (¥—#&) Without key

85 14 27 72
352 BAAK/Syx>/11.5 40|
: Waterproof packing | M6X12 ‘ 2-¢p4.2
o _ /’*%f%ﬁ
M o g L
B o pil Ef—)u 7 o
0 7 , <
[ { / &)
E$5 A E90° v — =
Turn 90° v M. €
« ‘ REEES ©
A i (11.6) s
| Adjustment O 18
i1 washer ® <>
LU
i c i N! ZN
D k% / C-44-1 = © Kﬂ
T~ £ <
‘ ! étt3.2) ot ‘ 2-M4x10 ‘
i opper plate |/ ‘
L/ b& N N |
BT iR H-200%F+x—
Installation plate 26 Key No.
AB-402-1 - with key
AB-402'2 (+—#&) Without key
7.5 12.8 27 ™ 65
30 BhAK/¥yx>/11.0 40
Waterproof packing W M5x10 ‘ ?£ 2-¢4.2
0 B W {
—~ 1 Y i [©)
-+ N 1i ]; -3
NHE . q L
I AN = k Pain
E&RE0T | ]
1 Tun 90° S Nmzme 8 | g
& | (t1.6) @
i - 111 Adjustment BN
. dlk  washer \
,,( g}, 2-M4x8 ©
| P 1% / C-44-2 : ¥
NUHD% (12.3) I
Wy Stopper plate \4/ !
BT IR 23 H-200%F%—
Installation plate Key No.
AB-403-1 ¢—with key
AB-403-2 —m without key
7.5 12.8 27 r 65
28.5 BA7K/ Y% /11.0 40
Waterproof packing M5X10 ‘
| 0 |
N ivare
N e o - -
e % 3 “3#
|| me=mmeor § [{ pErE
,,{ = Tun 90 Adjustment
T | washer
Nl BUfHHR

K

Installation plate

k% / C-44-2(12.3)
Stopper plate

H-200&x—
Key No.

AWBAKLE

WA A L
Dimension of mounting hole avy
L'/N— — Revolving central
El#EzeR/D  \ position of handle
|
0
! _I &
i
~

SEARRE. 11.0~2.3mm
Panel thickness applicable to install

WEfT T
Dimension of mounting hole

L/N—
EEz

Revolving central
position of handle
|

I

96

|
|
|
|
|
|
|
24

EAEREE 11.0~2.3mm
Panel thickness applicable to install

WE ot iE

Dimension of mounting hole

LN—
EIEAC NP

Revolving central
position of handle

63

SEAEREIR. t1.0~2.3mm
Panel thickness applicable to install

30



i
AL
&
#
-
#

N EL
avy

AT L ABBIKERIERmAAL /N RV

STAINLESS WATERPROOF THIN FLAT SWING HANDLE

SAB-401~403(sus)*SAB-403R-1 (sus)

@PAT.PEND.

# A O ATUVLARTHARMICENTLET,

(—#) AAEEHM 27 LIRS FERREREREXBEERESM (WA ERLTF) (SAB-401-1)  Feature @BV HAMNSILHEFTHRITEHN13.508F

31

SAB-401-1

MAAT

O RFKEEN TNy F U F BKAREL>TUE
ER

O EEFMARE (ERDERE L. EHEERABERZ
B|RLEY)

® Adopt the stainless, have very strong
corrosion-resistant performance

® Ultra-thin structure, the distance
between the installation surface and the
stopper plate is only 13.5mm.

® Adopt waterproof structure sheet
packing and reverse side of handle.

® The special design of two-way (left and
right) to rotate concurrently (according
to the direction change, stopper plate
and adjusting washer can be turned).

# H e A7V A(SUS304)

FHELIE @NT—FAINTHRE

B & eFER SER-HIHE - ZOMmEEBOX

fi % o+—%% 'H200

Material @ Cast stainless steel (SUS304)

Finish eHairline finish

Application @ voltage transformer, switch box, section
board, control cabinet, and other
various kinds of control cabinets

Remarks @key no / H200

KARMODILHERFTARIIE ARABG DS [#EAHBH LR

DRHEWRHLET
m & i %8B #HE®| A ¥ Bl
Product No. Remarks Weight Lot Price
SAB-401-1 FES 401 10 ¥8,500
SAB-402-1 gt 298 10 ¥7,600
SAB-402-1 SAB-402-2 | mEL 296 10 | ¥7,000
SAB-403-1 gffE 226 10 ¥7,000
SAB-403R-1 FES 240 10 ¥7,500

*+—%%2 H200
SAB-403R-1 Key No.



I SAB-401-1 s—with key

33

8.5

BAZK/ ¥yF2/11.0
Waterproof packing

0
o]
A
//I
A
[E%5 8 EE90° Y
Turn 90° s

SAB-402-1 - with key
SAB-402-2 (x—m without key

(27.4) 72
40[° 2-p4.27%
M6x12 | ?{
]

116

ik
SUS(t3.0)
Stopper plate

0 85 135 27 65
Bkt E0. U NPV
Waterproof packing M5x10 | z{
L iy ™ 4
AN < l S
o 117 8
NEIN IS 0
| ANl — b
i e x o
! %A E90° /’ J I 9 &3
| Turn 90° K g'/ Q i
11 // o o H R.
o~ qQ ™
‘ éw \ E
g
| e
~ SUs(t2.5)
Stopper plate 5
s 2-M4x8
I SAB-403-1 ¢—mwith key
28.5 85 135 27 65
Waterproof packing M5x10
LQ Oy .
1 <
AN & |
A S 2
| e
E#x /A RE90°
TE )T Turn 90°
‘__,
hud N \
SUS(t2.5
2o M4x8

I SAB-403R-1 ¢ with key

28.5

9.2

Stopper plate

12.5 27

BAAK/ Sy % /11.0
Waterproof packing

\

25.4

7

[E%x/8E90°

1 @;fTurn 90°
|
<

M5%10

i
i

| (20

o
REES

Adjustment
N washer
| \iEwE / SC-44-2
(t2.5)
Stopper plate

AR
Installation plate

46

H-200%&+x—
Key No.

WA
Dimension of mounting hole

L/N— Revolving central
El#E /D \ position of handle
\
| 0

I
N~

|
|
|
|
|
|
|
|
27

SEAREREIL 11.2~2.3mm
Panel thickness applicable to install

| Ji e A
Dimension of mounting hole

L/N— Revolving central

[EIETZ2YN _\position ?f handle
|

! Y]

=

96

i
i
i
|
i
i

24

SEAREREE. t1.2~2.3mm
Panel thickness applicable to install

WA R
Dimension of mounting hole

L/3—— Revolving central
B2V _\position of handle
|

| [N
X

63

24

EAEREIE 11.2~2.3mm
Panel thickness applicable to install

WA RTE
Dimension of mounting hole

L-/S—~ Revolving central
B2l \position of handle

9Vl

=

63

24

SEAEREIL 11.0~2.8mm
Panel thickness applicable to install

32

AWBAKLE

N BRI

avy




LEIREIK/ N\ NIV (£ 2o —444%) | Q1O 15

L-TYPE WATERPROOF HANDLES WITH INDICATOR

AB-901RS-1-AB-901RC-1

#
3
[
b
B
#

OPAT.PEND. B M e IUr—aAHLTVETOT. @O BB
ST o e RN e Feature HEHN—BTHHIVWET,
- AB-901R-1D/N\ RILICA > r—aieezDlFC. O—3A b, o[BI~ [B) ~ROBFELOTVET,
K4 N . ® L DR) A AVED o
BOBAS—EThPUET, Z I (1) k4 )
e With an indicator, you can see the
locked state of the key at a glance.
@"Open"— red, "Closed"— green.
e |t is a waterproof mechanism. (Uses
O-ring and waterproof packing).
® For both left and right use.
# ¥ e EIAE (ZDC)
FELIE e /OLHOE
] & exa1—EVI -BRER HER- -HIHE - FOMEE
BOX
fis = o +—%S/H200
Material @ Zinc alloy(ZDC)
Finish eChrome plating
Specific Use ® Cubicles,electric distribution and
control panels,etc
Remarks @ Key No/H200
; XAHFOIEHERFAX I BABHLED BB AR D
2hEERLET,
it ds] ¥Mounting screw for stopper plate of this
Locked product are recommended that are coated with
"anti-loosenig" to prevent loosening
m & B ZHkE A % B i
Product No. Weight Lot Price
AB-901RS-1 450 40 ¥2,500
AB-901RS-1 AB-901RC-1 AB-901RC-1 460 40 ¥2,700
ot g
Unlocked Unlocked
@/\> NI -BEPFDEERER
1E8 % (Stopper plates) (Strength test for the handle, lock, etc.)
1E8 %13, P279~283ICIB#L THYET MARRDLOHRVEMER T, @ & FHEHE | WEE (ksf)
(FRIEEEHTY) T Name load bearing direction | load bearing strength
Stopper plates are placed in the catalog from page279 to page283. ™ @31
Please select the square hole according to your applications before using. - 100
The drawings below are examples for reference. ®¢ pull out
T - NURIL ®F # 100
Handle Press in
- o o CF B
o o Vertical from head to foot 100
o - ® of Y
lock Turn out 50
O» L @b LSRABIB | oo
Installation position of pull out 50
stopper plate ultou
- (¢58)
¢60 51 22058 ERAEEZ (12.0) (|3757J<(€\°‘y#‘/)
6/1.5 ‘ BEES (13.0) 35
( L i / N
\ | N\
-7 D
o TS ] % 1
/,,/ P 7 N\ I]
o X/ ) Q 1D Fvh(M22)
gy _,/—ﬁ%ﬁc@rg BEE \g - 36 B {3 EE &
T ) (B : . BhA7K/ ¥y¥> (11.5)
60 )Rt A
28.5
11 )/ms
4 <: 23
ké: A o {,
o i ~/ <
) - K < \ \\\‘ 31 K
(103.8) ] TN o @
TN o~ BAEARRER. t8.5mm
AB-901RC-1

33



LEISIRE/ \ NI

L TYPE PLASTIC HANDLES

ABP-901~902(V-G)

AWBAKLE

OPAT.PEND. BB eRODBKIEE (F—US T BNy AR,
Featre o HINASICHIIERIL AL . WERICEIRTLE -
7, N BRIV
o EERMEE -

® Waterproof (using O-ring and sheet
packing)

® Zinc alloy inserted, so it's corrosion-
resistant.

® For both left-hand and right-hand use.

#  H e ABSHifE- 1Y —MBEREE (ZDC)
5% & eV-~R—=Ua1-GJlL—
B & eBAFi—EJI-EER FER FHE ZOME
EBOX
fi % e*x—%%S 'HO001
Q 0 200FF—HitR1 TEMYZAATHIET
-

Material ® ABS resin-Insert/Zinc alloy (ZDC)
Standard Colr @ V-Beige-G-Gray
Specific Use ® Outdoor cubicles, electric distribution
and control panels, etc
Remarks @ Key No / H9001
e Have cylinder of No.200 key type.

HARMODIEDHEEFF AR IS RABGIED S [FRABHIER

DBHMEHIHRLET
*—%5 H9001
Key No.
ABP-901V-1 ABP-901V-2
W H He Hs .
W T3 ERES
e Adjustment washer
LT N
< %, = y %\ ?
= f - T o
el L
7 SN . b
e 7 AN _ES /\\\\ \\\ J 1 Fyk M
LT N, Nut MR
X ‘ A Ha B EES Dimension of mounting hole
~ | ) Spring washer
@%ﬁﬁgsoe 1 @ﬁiﬁEGOo B?‘J-7K/\°‘7#"/ (ﬂ 0)
(Eﬁﬁé)o (Eﬁ’ﬁgo) Waterproof
Turn60 Turn60 packing 19
(open to left) (open to right)
Ws 34 3
9001 &EXx—
Key No.
wm & B B ZL | Lo |Wi| Wz Ws|Ws| Ws|We|Hi|Hz | Hs|Has| Hs| P | M oDi oDz BE® AR grappgy #
ABP-901V-1 Bt 511 ¥3,000
— 154| 7 |575/ 40 |25 |70 |42 |10 |61 | 9 |40 |24 | 6 |50 |24 |30 | 25 40| 95t |———
ABP-901V-2 N BEL 567 ¥2,300
T . —1
ABP-902V-1 Bt 322 ¥2,700
— 1195/ 6 | 50 | 32 228/ 60 |32 | 8 | 55| 6 |37.5/20 | 4 |40 | 22 | 27 | 23 28 Tt
ABP-902V-2 BEL 366 ¥2,100
ABP-901G-1 Bt 511 ¥3,000
— 154| 7 |575/ 40 |25 |70 |42 |10 |61 | 9 |40 |24 | 6 |50 |24 |30 | 25 40| 95t |———
ABP-901G-2 S BEL 567 ¥2,300
ABP-902G-1 Bt 322 ¥2,700
— 1195/ 6 | 50 | 32 228/ 60 |32 | 8 | 55| 6 |37.5/20 | 4 |40 | 22 | 27 | 23 28 Tt
ABP-902G-2 BEL 366 ¥2,100

34



LEIBSIK/ N\ NI T

L TYPE WATERPROOF HANDLES

AB-901R~903R

#
3
[
=
B
#

(—#) BFRERH S F1-EVVKXFEEERFATERMAEESM(AB-901R-1) M eKE1T—ARBROARDOAN—REEEYRLELT.
L Feature @ Z/DOBKHE (F—) 27 Bk Ny ER) .
NN o ERFRARET

avy

@ Using the circular-type base parts of
popular shape.

® Waterproof (using O-ring and sheet
packing)

® For both left-hand and right-hand use.

#  H eH$pE% (ZDC)
FELIE e/O0LHOE
B & eBAFi—EJII-EBEER SER FHE ZOME
&BOX
fii % eF+—&FS 'H200
0 AB-901R~903R."H500& &1 7DF+—1)>
F—HWMUZEAZATHYVET ., (EEOICEH)
Material @ Zinc alloy(ZDC)
Finish @Chrome plating
Specific Use ® Outdoor cubicles,electric distribution
and control panels, etc
Remarks @ Key No / H200
® AB-901R~903R/Have cylinder of
no.500 key type (have different key

type, too)
HAHGDIEDEIMFFFRARIIE BHBHIED S [HEAB51EH] ]
DRHEWRRLEY
% =8 Z@|A %] B @
Product No. Remarks Weight Lot Price
AB-901R-1 RFE 450 40 ¥1,900
AB-901R-2 REL 450 40 ¥1,700
AB-902R-1 RFE 240 60 ¥1,800
AB-901R-1 AB-902R-2 BEL 245 60 ¥1,200
AB-903R-1 RFE 200 60 ¥1,600
AB-903R-2 REL 205 60 ¥1,100
AB-901R-2F | & Ex 450 40 ¥1,700
XRE-EERXM7IERREBEE T DEXICTERALLEEN, &Y
A1 AZRAETEEY.

%Use the keyless/fixed type when fixing a single
door. Each size is available.

*—%%5 H200
Key No.

100

AB-903R-1 Os Lt @l

@/\> RIL-REBFEDIREAER

(Strength test for the handle, lock, etc.)
184 (Stopper plates)
21, 27O 2BIIIEHL T AR LOERUBER T2 B e, | e,
(FREBZHTY) ame load bearing direction | load bearing strengt
Stopper plates are placed in the catalog from page279 to page283. ®5I5RY
" o ’ 100
Please select the square hole according to your applications before using. pull out
The drawings below are examples for reference. AURIL ®F &
¢ 100
Handle Press in
CF B
_ Vertical from head to foot 100
# # o’ Y 50
lock Turn out
1E2 BE(FER
3
Installation position of €515 50
Pull out
stopper plate

35



#
AL
B
#
o
#

AB-901R-1 &—with key (58) :
AB-901R-2 &—mwithout key ) ((5iz SAVEDD] I\/.Hb
SARES(2.0)  Waterproof packing -
$»60 51 2258 Adjustment washer 35
6 1.5 ‘ BEES (130) |
- Adjustment washer //i\
( | MBX14 / /Q\
7 N Foh(M22)
T X A NN 1] Nut W Rk
C/./ /"/@;'ﬁFGO @i’ﬁr;gd\ \‘\\> - 36 BT EES Dimension of mounting hole
T 5 £ 60° LRG0 e ) R
A (B9%) (4B9%) - Bioks %% (11.5) - 3]
Tumn60° Tumn60° Waterproof packing { z
(open to left) (open to right) o 23
2 G -
31 BAEARREN. 18.5mm
(103.8) ] H200%+— Max applicable panel
: Key No. thickness is t8.5mm
AB-902R-1 - with key
AB-QOZR'Z (%—#%) Without key
(¢46)
REES(11.0) (5% GAVE 39
$48 42 143 5 Adjustment washer Waterproof packing
23.5 52 1.5 RS (12.0) _ 30 _
/__ | Adjustment washer |
& I + M6x14 /A\
e éé\ - OHH <
P Iy - 7)< mmisyRst
- I G NN o Uy Fvh(M22) ! Dimension of mounting hole
) ’/li///' P - \;\. ! ‘\\\\\\\ N 1 Nut ?‘bc
T S 285 S z
- A% £ /60" A% £ /£60° & 1€ 23
(%) (BR%) 20 S 3
TurnB0° TurnB0° Ffizk/¥y%> (11.5)
(open to left) (open to right) Waterproof packing : 1Y
\ I
2.0 3 -BAEAREREL. 15.5mm
12.4 25 Max applicable panel
(84) | H200%&*— thickness is t5.5mm
" Key No.
AB-903R-1 @—with key
AB-903R-2 x—® without key
) (¢43)
SREES(11.0) (Bh7K/ ¥v%>)
¢45 38.8 14.% 5 Adjustment washer  Waterproof packing
S 15 BEES (12.0) _ 30 _
Adjustment washer A
- i M6x14 A
< :
P - WEfF T
P . S ® Fvh(M22) Dimension of mounting hole
A~ ~ A A " |
BI85 /£60° Hlé5 5 7£60° 265 E TS |
(£B9%) (HBIZ) 20
Turn60° Turn60° Ffizk/ ¥y (11.5)
(open to left) (open to right) Waterproof packing
3 23

RAEARRE. 15.5mm
Max applicable panel
thickness is t5.5mm

H200&Fx—
Key No.

(11.9)

(68.6)

36



#l
AL
&
#
-
#

N RN
avy

AT L ALBIREIK/N NIV

SAB-901R~903R

@PAT.PEND.

SAB-901R-1

STAINLESS L TYPE WATERPROOF HANDLES

1k % (Stopper plates)

1EH&IE P279~283ICH/EL THWETEAARDLDELRUEIER T,
(FRIRSEHITY)

Stopper plates are placed in the catalog from page279 to page283.

Please select the square hole according to your applications before using.

The drawings below are examples for reference.

SAB-902R-1

*—%% H200
Key No.

—EOyILEIBAK/N NIV

DOUBLE LOCK L-SHAPED WATERPROOF HANDLES

QO |:=
LA AN 4
stock | roris ) BA7K

(—#) BARZHMN 27 L 155 FRARSBREDEEBZESE B (WAWERETF) (SAB-901R-1)

B B e AT ANTHAMICENTLET.
Feature @ %D DB KIS (F— 1> 7B/ N % %)
o E AR

eMade of stainless steel, providing
excellent corrosion resistance.

eWaterproof (using O-ring and sheet
packing)

® For both left-hand and right-hand use.

¥ eAFULA(SUS304)
FEYE e FE/NTHRE
A & eEAF1—EVI-BRER HER-FHE TOME
EBOX
fi % ex—%FS/H200
O REL A TORMEBLET . FRALEDESEZL,

Material @ Cast stainless steel (SUS304)
Finish e@Mirror finishing
Specific Use ® Outdoor cubicles, electric distribution
and control panels, etc
Remarks @ Key No / H200
®There are also handles without keys.
Please inquire.

KARMODIEDHERFT AR IS ARABHIED S [FRAHBHIEH
DEHREHRBRLET

m & fi |8 E@® A & | H ffi
Product No. Remarks Weight Lot Price
SAB-901R-1 gSE 540 40 ¥8,800
SAB-901R-2 RIEL 580 40 ¥7,400
SAB-902R-1 gfFE 280 60 ¥8,300
SAB-902R-2 HEL 320 60 ¥6,800
SAB-903R-1 & 230 60 ¥8,000
SAB-903R-2 $EL 262 60 ¥6,400
SAB-901R-2F | #& EE 580 40 ¥7,400

MBE-BEX 7R REZEE T HEEICTERALLEEW &Y
A AZRHETEEY,
¥Use the keyless/fixed type when fixing a single

door. Each size is available.
0l0[:=:
stock | ronis | BA7K

AB-901R-1W

AB-901R-1W

37

¥ # BRIz I AFICK O TEICHERETEETY.
Feature @ HAAMIL%ZRHILY HIEIBLD T, RLICIEETEE
ER
OAMNYN—BOHFLEFOBENBELL MEEDHR
L—XIATAETY.
o LhFRARET
® Can be double-locked by a padlock.
® By a mechanism to prevent the natural
rotation, you can work safely.
® Well the operation of the stopper
mechanism, work can be done smoothly.
e® For both left and right use.

#  H e@E$psH% (ZDC)

FELIE e /OLHOE

B & eFxi—EVI-EER TR HIERE

fis % e+—%S/H200

Material ®Zinc alloy(ZDC)

Finish eChrome plating

Specific Use @ Cubicles,electric distribution and
control panels,etc

Remarks @ Key No/H200

*ARMOIEHEEUTAX DI, BABFLED B[ #E AR D
BhEHRERLET.

¥Mounting screw for stopper plate of this
product are recommended that are coated with
"anti-loosenig" to prevent loosening

m & B E(g) A # L]
Product No. Weight Lot Price
AB-901R-1W 559 40 ¥4,000




#
AL
B
#
o
#

SAB-901R-1 &—twith key

SAB-901R-2 —mwitnout key R 120 L
60 51 22515/ \washer (¢58) =
285 6 115 SAEESR (13.0) 40
| Adjustment Bz Sy3%>)
[ i > 1 washer " Waterproof packing
B T=s M6 x 14 ‘ §
/,/ RS2 . N Q
i ,///’/’ \\\\\\ N © - Fvk(M22) Q WEUTFIRTE
N \// > A 36L” Nut Dimension of mounting hole
S A UG Ty | 2:98.5
EEEAE60" EEEAE60" 0 o i &od
() (Eh) Bk S (11.5) D
Turn60° Turn60° S Waterproof packing S5 )g
(open to left) (open to right) ° : <
Ire) U
; RAEARERE$ 18.5mm
Max applicable panel
(103.8) ' (15.3) H?(%E/)%Nj_ 31 thickness is t8.5mm
SAB-9028-1 &—with key
SAB-902R-2 +—m without k
(FRWithout ey 42 143 5 ,EES (1.0
5.2 |1 75 Adjustment washer
= SAEEE (12.0)
Adjustment washer (2 ADE)
e M6 x 14 Waterproof packing
~_ - q - WEHFRST A
~. \\ ° Dimension of mounting hole
AN Al 7‘y|~(M22)
. SN - 1L Nut
@60’ [T | E&EAEE0T 28.5 V=77
(Z£FIZ) ARE) BhizK/ Yo% (11.5)
Turn60° Turn60° Waterproof packing
(open to left) (open to right) -
‘RAEARERENE. 10.8~4.5mm
(12.4) 25 Max applicable panel

thickness is t0.8~4.5mm

SAB-903R-1 &—with key
SAB-903R-2 (x—m) without key

38.8 143 5 ~#HEEE%(11.0)
1 Adjustment washer
5143 / FEEES (12.0)

Adjustment washer (BHAK I Sv3>)
TI5 M6 x 14 1 Waterproof packing
‘ WETRTE
O\ 8 Dimension of mounting hole
oSNNI (| 5
$ ~ Fuh(M22) Lo
“E&rEeo| || mEREO 265 Nut N il
Cafi%) JrrROm o
Turn60° '
open to left) (open to right) ’ %710 \°‘y=\'}‘/ (t1k:5) -
(11.6) 23 aterproof packing - KEAEREIE 10.8~4.5mm
Max applicable panel
thickness is t0.8~4.5mm
(¢58) (BA7K/NvF>)
(51.4) 2258 Waterproof packing
6 1.5 .
I [ NSNS
Dimension of mounting hole
rﬂﬁ%
- 2-98.5
S /13.0 A0S
© Adjustment washer - b 28
N 19) FAEEEE/12.0 N 'E”')'
Adjustment washer Pend
Fvh(M22)
Nut

=RAEAEREL, t8.5mm
Max applicable panel
thickness is t8.5mm

BH7K/ N ¥ /1.5
Waterproof packing

38



LEIRGIK/ N\ R (gt 2 ) o

L TYPE WATERPROOF HANDLES(BAKED FINISH)
AB(S-V:G)-901R~903R

OPAT.PEND. B W e R ODBIKIEE (F—U T Bk Y AER).
| (CHBAERHS F2-CUAAFEERSATERHREESS (AB(SV-G)-001R1) Feature e fr3kMHE

ave ® Waterproof (using O-ring and sheet packing)
® For both left-hand and right-hand use.

# B eEMEE(ZDC)
FELE 07U ViR 2%
15 # & e ABS-VJL/N\—-ABV-N—21-ABG-JL—
A & eEAF1—-EV-EER HER FIHE TOMhEEBOX
fi % ex—%S 'H200
OH500B 41T DF -V 4—bBMYZZATEH
VEY (FEVICHIIES)

Material ®Zinc alloy (ZDC)

Finish @Acrylic resin baked

Standard Color ® ABS-Silver-ABV-Beige:-ABG-Gray

Specific Use ® Outdoor cubicles, electric distribution
and control panels, etc

Remarks @ Key No / H200

®No.H500 key cylinder, individual keys

also available.

KARMODIEHERFT AR IS ARABH DS [#EAHBH IR
DEHEHRBRLET

#l
AL
&
#
-
#

100

ABS-901R-1 ABV-901R-1

@/\> RIL-BEBFDIRERER (Strength test for the handle, lock, etc.)

Name load bearing direction load bearing strength

®515&Y) (Pull out) 100

AMRIL (Handle) [E38 (Press in) 100

_ ©O=E 100

(Vertical from head to foot)
B (lock) ©#24) (Turn out) 50
B
(Installationjﬁtﬁg?gsﬁipper plate) @513 (Pull out) 50
m B & fi % |8 E@® | A % Bl
Product No. Color Remarks Weight Lot Price

ABS-901R-1 BFE 454 40 ¥2,500
ABS-901R-2 BEL 454 40 ¥2,000
ABS-902R-1 . BFE 241 60 ¥2,200
ABs-902R2 | T | mmL | 247 60 | ¥1.500
ABS-903R-1 FEEY 204 60 ¥2,000
ABS-903R-2 BEL 211 60 ¥1,400
ABV-901R-1 S 454 40 ¥2,700
ABV-901R-2 BEL 454 40 ¥2,100
- - ABV-902R-1 o FEEY 241 60 ¥2,300
ABG-902R-1 ABV-902R-2 | | mmL | o247 60 | ¥1.600
ABV-903R-1 B 204 60 ¥2,100
ABV-903R-2 BEL 211 60 ¥1,500
ABG-901R-1 BFE 454 40 ¥2,700
ABG-901R-2 BEL 454 40 ¥2,100
*—%% H200 ABG-902R-1 | =~ BFE 241 60 ¥2,300
Key No. ABG-902R-2 REL 247 60 ¥1,600
ABG-903R-1 AN EY 204 60 ¥2,100
ABG-903R-2 BEL 211 60 ¥1,500

39



\

#
AL
B
#
o
#

AB (S-V-G)-901R-1 c—mwith key (658) ‘
AB (S:V-G)-901R-2 —@ without key ) (BEAKI S %2) L
SARES(2.0)  Waterproof packing -
$»60 51 2258 Adjustment washer 35
615 | /gums (3.0) ;
- Adjustment washer //i\
(L M6x14 / /@\
,/"/'/// ~ \\\\\\ U Fub (M22)
T2 A - 1] Nut W RT &
C/./ /"/@;‘ﬁﬁ‘eo" @i’ﬁ}*é\(‘)“’\\\\\? - 36 BT EES Dimension of mounting hole
- (EEBﬁ%) (%ﬁﬁ%) N B/ Sy%> (11.5) - 2-¢8.5
Tumn60° Tumn60° Waterproof packing { z
(open to left) (open to right) 23
2 6 -
5
31 BAEARREN. 18.5mm
(103.8) ] H200%+— Max applicable panel
: Key No. thickness is t8.5mm
AB (S-V-G)-902R-1 & with key
AB (S'V'G) '902R'2(4’——ﬁ)Without key
(¢46)
REES(11.0) (5% GAVE 39
$48 42 143 5 Adjustment washer Waterproof packing
23.5 52 1.5 RS (12.0) _ 30 _
/__ | Adjustment washer |
& I + M6x14 /A\
] i :u S Z\ | I’@“ >
,/'/ > < S ,?— <> et
o XA AL : WAt
- o SN o BN Fvh (M22) : Dimension of mounting hole
p /l’ /./‘// N ™~ . \\‘\\ C‘E 1 Nut ?‘b‘
e L 285 EES v
- B 760 B 7E60° & 8.5 = 1 23
(%) (BR%) 20 N X
Turn60° Turn60° B/ %> (t1.5) o
(open to left) (open to right) Waterproof packing : 1Y
\ I
2.0 3 ) BAEARRE. 5.5mm
: 5 Max applicable panel
(84) | H200%&*— thickness is t5.5mm
" Key No.
AB (S-V-G) -903R-1 ¢+ with key
AB (S:V-G) -903R-2 (+—m without key
) (¢43)
SREES(11.0) (Bh7K/ ¥v%>)
¢45 38.8 14.% 5 Adjustment washer  Waterproof packing
S 15 BEES (12.0) _ 30 _
Adjustment washer
- i M6x14 ?&
Co)
N < mmsonstn
P SN S R Fvh(M22) Dimension of mounting hole
"//‘/‘/, - S \\\\} - 1 Nut \
A~ A L= " |
BI85 /£60° Hlé5 5 7£60° 265 E TS |
(£B9%) (HBIZ) 20
Turn60° Turn60° Ffizk/ ¥y (11.5)
(open to left) (open to right) Waterproof packing
3 23

RAEARRE. 15.5mm
Max applicable panel
thickness is t5.5mm

H200&Fx—
Key No.

(11.9)

(68.6)

40



LEIBSIK/ N\ NI T

L-TYPE WATERPROOF HANDLE
AB-701~703-SAB-701~703

@PAT.PEND. B M e RDDBKIEE
AT (1) RARBHE 27T LIR: FERRBREBERBZEZERS (MAWRRIEF) (SAB-701-1)  Feature é% ?3507 ;’:é {;/2—4 I\Q’g /F2I=RBKEE JIS
avy (—#)AXBRGS F1-EVIAFEEREFRZERMEEES M (AB-701-1) oI TANBHL UL, BYPT OB (T
- AL I FICKLT YR LN RIED R
(4725,
o 7 —/NVPRDBIF N— R (3, B ERISHER
R=ATHA>,
® SAB-700/A7 VL AMTHBMICERTLET.
# ¥ eAB-700/&E#&% (ZDC)
® SAB-700/27 L2 (SUS304)
FMLE @ AB-700/70L%HoE
® SAB-700/$RE/\ 7 HEE
A& eBiF1-E/) RER HER-HIHE ZOHEEBOX
i % e¥—&% 'H200
O®H500&F R TDF— )V A —6BYEZXTH
WET, BEVEITEHIET.)

Material @ AB-700/Zinc alloy (ZDC)
® SAB-700/Cast stainless steel (SUS304)
Finish @ AB-700/Cr plating
@ SAB-700/Mirror surface buffing
Application ® Cubicles, control cabinet, and other
various kind of control cabinets
Remarks @ Key no / H200
e Have cylinder of NO. 500 key type (have
different key type, too)

KARMODILHERFTARINE ARABG DS [HEHBHLEH

#
3
[
=
B
#

DRHEWRHLET
m & fia & B B(g)| A # -]
Product No. Remarks Weight Lot Price
AB-701-1 BAFE 470 40 ¥2,200
AB-701-1 AB-701-2 L 469 40 ¥1,900
AB-702-1 T 234 60 ¥1,900
AB-702-2 PIEL 241 60 ¥1,200
AB-703-1 S 194 60 ¥1,800
AB-703-2 2093 199 60 ¥1,100
AB-701-2F | ##EL-BEE 470 40 ¥1,900
SAB-701-1 T 539 20 ¥9,800
SAB-701-2 BIEL 556 20 ¥8,400
SAB-702-1 gfrx 290 20 ¥9,300
SAB-702-2 PIEL 305 20 ¥7,800
SAB-703-1 gftx 240 20 ¥9,000
£—®E /H200 SAB-703-2 BIEL 250 20 ¥6,600
Key No. SAB-701-2F | &L -EE 539 20 ¥8,400
MBE-BEX 7R REEAE I HEEICTERALLEZV &Y
A XZHETEET.
¥Use the keyless/fixed type when fixing a single
door. Each size is available.
5y 7 B Gy 7 A ElEERE
(ABIxmEAEAER) (FIxFEAEER)

While the handle turn right
(Open the door to left front drawing)

While the handle turn left
(Open the door to right, front drawing)

-
,/ ,/

\/'/://,’/‘/ ~ :\ ~.
SAB-702-1 SAB-703-1 X :
. \ )
. e
~N e

~
~-

ZEOZEND I BHRIC
N=2E Ly LT,

Make the character of "left" above,
form a complete set with the base__ [/ {

Ay MERfHIREER
Installation diagram
of rods bar

ADZIEND EICHBHRIC
N=2&E YA TTFEW,

Make the character of "right" above,
_ form a complete set with the base

PR ‘ N—AEE
\\ v 3 Back
Y @/\> RIL-#EBZEDRERER (Strength test for the positions likehandle, etc.) 7 @ !
\ o
Name load bearing direction load bearing strength
®513&Y (Pull out) 100 100 100
N : mm mm
ASRIL (Handle) ® [E38 (Press in) 100
© =@ 100
(Vertical from head to foot) © —®
#B (lock) ©#84) (Turn out) 50
() AL S~ EBEORORETT . R = ORI LT NTHATVET,
(note) Figure is a state when the lever is . ﬂ:ﬁ_’,“mﬁ“ﬁ ®313&Y) (Pull out) 50 The test of the above positions have
a right rotation. (Installation position of stopper plate) suoerior to the stated standard.

41



AWBAKLE

AB-701-1-SAB-701-1 &—twith key

AB-701-2:-SAB-701 -2 —m without key ’;{y"‘a’”
50 gg 22.5 g 50
285 6. [15] | |
| 1 M6x14 | 298
] 1 -
= | &
g / 0 o /2 \\ o 3
1 NERER © VA H—200%&%—
/T\ FvhM22 X ' Key No.
Y .
i U Nut WEUF R A
: % EES 4 Dimension of mounting hole
| 35 |\ BEksvsE /1.0 ,_._.{9 423
\ 37 Waterproof packing
(£RA%) i (HRZ) °
Turn60°(open to left) ‘ Turn60°(open to right) F -
i 2-¢$8.5
| (105.5) 3 - %
26 KBV ETER HRAEAFERE. 18.5mm
SAB-701 SAB-7017F vk (M22) Max applicable panel
thickness is t8.5mm
AB-702-1-SAB-702-1 &—hwith key
AB-702-2'SAB-702'2 (%—#) Without key
40 435 143 5 40
23.5 52 1.5 |
\ 1L ‘
| M6X14 | 2-¢7
AT +
@)1 8 mmuriz
q L Dimension of mounting hole
i FvhM22
- Q Nut 4
! ~—
\ X
i ¥SAB-702/\)>T T4
(ZF%) | (BR%)
Turn60° ! Turn60° JKItyE/11.0
(open to left) w (open to right) o5 %ajierp?oo?packing
\ =2 _
‘ (85) BAEARRE
o1 5 AB702(t5.5mm)
: SAB-702 (t0.8mm~4.5mm)
Max applicable panel
thickness
AB-703-1-SAB-703-1 &—hwith key
AB-703-2:-SAB-703-2 (+—m without key
37.5 40 143 .5 37.5
22 5 1.5
| 1] - M6X14 | 2-¢7
(N -
A il . ,
éz L J \ ~ Iﬂi{ﬁtﬁ\fﬂ"/ﬁ .
s \\\\\\ 5 | FyhM22 Dimension of mounting hole
e [, ° 28 || | \Nut
o EEES
' ¥SAB-703/1)>973%
J 655 7T
Turn60° Bh7K 7 Sy%>/11.0
(open to left) (open to right) 23 Waterproof packing
L @0
19.8 -RAEAERE

AB-703(t5.5mm)
SAB-703(t0.8mm~4.5mm)
Max applicable panel
thickness

42



LESNEI N RIL

L-TYPE SMALL HANDLE

@PAT.PEND.

AB-802-1

AB-806-2

WA RTE

Dimension of mounting hole
2-¢p4

of ) %

EREER HEEER
Left-opening door  Right-opening door

RAEAREREE. t1.6mm
Max applicable panel
thickness is t1.6mm

AB-802
43

AB-803-1

WE I ATE
Dimension of mounting hole

ZRZEH

Left-opening door

A AEREL. t1.6mm
Max applicable panel
thickness is t1.6mm

HEREER
Right-opening door

*—%S H200
Key No.

B M eEhaFHMR:

Feature

® Design stucture of two-way (left and
right) to use concurrently

# H oA ® (ZDC)
FELE e /OLSHOE
A i o FiER-HER-FIEE-ZDh&EBOX
fis = o x—%% 'H200
OH500F XA 7 DF— U E—EB)HEATHY
9. BEOVEZAITEHYVET,)
Material ®Zinc alloy (ZDC)
Finish eCr plating
Application ® Switch box, section board, control box
and all kinds of other cotrol boxes
Remarks @ Key no / H200
@ Have cylinder of NO. 500 key type (have
different key type, too)

HAREDIEDHEBFTRARI IS ARABFIED % [FEABIEH |
DERZHRBLEY

m & il % |8 H(E| A # | & fi
Product No. Remarks Weight Lot Price
AB-802-1 LN 170 60 ¥1,600
AB-802-2 L 188 60 ¥1,050
AB-803-1 g 134 60 ¥1,500
AB-803-2 SEIRL 137 60 ¥850
AB-804-2 L 123 60 ¥750
AB-806-2 SEIEL 76 60 ¥700

1E 4% (Stopper plates)
1ED£IF P279~283(C1BEL THIETEAARDODLRUEMER T I,
(FRIEEEHFITY)

Stopper plates are placed in the catalog from page279 to page283.
Please select the square hole according to your applications before using.
The drawings below are examples for reference.

AB-806
WET T WE Tt
Dimension of mounting hole Dimension of mounting hole
3.5
0 é[ Q\%-% e Q\%-‘-’
A e
e S S
EREER AR EHZXER HRZER
Left-opening door  Right-opening door Left-opening door  Right-opening door

RAEAEREL. t1.6mm

Max applicable panel
thickness is t1.6mm

AB-803

BRAEARERE. t1.6mm
Max applicable panel
thickness is t1.6mm

AB-804



AWBAKLE

AB-802-1 - with key

AB-802-2 (x—m without key AR
8.3 avy
o44 44.5 = 3 AEES£(1.0)
19.5 Adjustment washer
M6X%X12
M___,:_,TK’,___ :T‘I S E— 3 —
E&RE0° | | | EEAED
(%) (%) . Fh (M20)
Turn 90° Turn 90° 20 = l\‘lut“ .
(open to left) (open to right) VT4

100.3

AB-803-1 - with key
AB-803-2 (x—m without key

H-200&+x—
Key No.

Ring-type washer

li

¢35 367 223 #EE2(11.0)
195 75 5 Adjustment washer
' ' M6X10
________________________ /10
S— B ;ﬂf [ — _
TN W
El#x A E90° El#xfE E90° 20 Fvh(M18)
(ZRI%) (HRZ) o Nut
S iy
Turn 90° ‘ Turn 90° ')'/7 Ty
(open to left) ‘ (open to right) Ring-type washer
e}
85.3 H'ﬁg;)ﬁ: - (226)
I AB-804-2 ¢—mwithout key
¢33 31 8.3 3 SHEES (11.0)
= Adjustment washer
7112 MBX12
s —— jﬂ( f /
) o i 1 I
\
[ E90° 5 E90° 2 Fvh(M18)
(£R%) (HRA%) Nut
U7y N2
Turn 90° Turn 90° :
(open to left) (open to right) Ring-type washer
71.5 ; (19)
I AB-806-2 ¢—mwithout key
7.8
927 28 3
6 15
REEES
I o Y Adjustment washer
% / \J
[El#R A E90° m#s A E90° 8
(£R%) (BR%)
Turn90° Turn90° Fuk
(open to left) (open to right) Nut
gy | TUETTs
.7 £ AN Ring-type washer

44




ZEAR/\ NIV

H
L
fid
=
% HANDLES FOR AIRTIGHTNESS

W OB eWMAMEATERY
Feature @ 27 VL AW THWRMEICTSHTVET,

e |t can be a powerful seal.
e Stainless steel handle has excellent
corrosion-resistance.

B eRAFULA(SUS316)

JAYA 92
avy

L HENE @ HE/\THE
La = A & egREE R
Ls i % ofMHIAHBIIRMEIHRZZN
r Vé:j N Material @ Stainless steel (SUS316)
4 %1 7 } Finish eMirror finishing
<ol C NES Specific Use ® Refrigerator, Heating cabinet, Doors for
L sealing
@ Remarks ®Please check the actual product
SAB-1001-2(R) 2-M4FBMR ol E s AMAFIIR regarding tightening of it.
4 1
Ls
FHIIEERT.
The picture shows the right type. /.Q,
] fmmY I
L Im O . ] 1T \ ‘-I‘ L/ f T
3]
FRIEEETRT .

The drawing shows the right type.

o B (L) | (L2) | Le | La | Ls | Wi | W2 [(H) | He | Ho |(Ho) | Hs | ti | Pi | P2 | Pa | (Ps) |HE(e) B fi
SAB-1001-2L| %Wz | 140 | 100 | 40 | 35 | 24 | 80 | 50 | 43 | 14 | 5 | 17 | 12 | 7 | 25 | 52 | 34 | 34 | 260 |¥4,300
SAB-1001-2R| #M=F | 140 | 109 | 40 | 35 | 24 | 80 | 50 | 43 | 14 | 5 | 17 | 12 | 7 | 25 | 52 | 34 | 34 | 260 |¥4.300
SAB-1001-3L| %W=m | 125 | 98 | 32 | 32 | 23 | 65 | 50 | 36 | 14 | 5 | 18 | 12 | 8 | 22 | 43 | 35 | 30 | 200 |¥3,500
SAB-1001-3R| #M=F | 125 | 98 | 32 | 32 | 23 | 65 | 50 | 36 | 14 | 5 | 18 | 12 | 8 | 22 | 43 | 35 | 30 | 200 |¥3.500

ZEAR/ > RIL

HANDLES FOR AIRTIGHTNESS

SAB-1010(SUS)

¥ & emAEBEANTEEY.
Feature @ 27V L AW THEMICBNTUVET,
® EEH#ARTY,

® |t can be powerful seal.

® Stainless steel handle has excellent
corrosion-resistance.

®For both left and right use.

# H eRATVLA(SUS316)

FEE e FRE/NTHE

] i= o EERtes ERANS ZHARE COMEERY
IR

Material @ Stainless steel (SUS316)

Finish e@Mirror finishing.

Application ® Equipment for kitchens, medical.
Doors for sealing and control panels,

etc.
2-.M5/A M~ (50) 100
2-M5FH MR
‘ /—‘
o
o =] &
I | [ I m & B (g A B B i
Product No. Weight Lot Price
0 ‘ ol SAB-1010-3 194 ¥4,000

45



ZEAR/\ NIV EEE)

HANDLES FOR AIRTIGHTNESS
AB-1007 (ZDC)

30 ¥ M emNBEANTELY.
5 38 (43.7) Feature ®/\N)L-HLMIED ETFERDHEEL. L/N—BD
i (5) KA ML TRBICAABINET.
T oS OHPYIRRUMHIBZNEFT. R TE

— | A %Y.

:_ _ ZZEHLT 0 ZT DHHYERICHIRE (POM)ZERUMIFTLBD
(Y LA-% T EEMOREZMHLET.

R ETEAI
WAL B ®|t can be powerful seal.

th ® The top, bottom, left, and right positions

L of the handle and cam can be easily

(S

7:)

50

I EEEN

70
50

S\ B

9 v N

(10.5) reconfigured by pressing the button on
15.5 the back of the lever.
- ®The catch can be adjusted without
changing the mounting position.
eSince resin (POM) is attached to the
receiving part, it suppresses the
L_)J generation of friction powder.
17

#  H eHAE/S (ZDC)

FEMNE e YFFAhOLDHOE

)] i o M B AR DHh&EBOX

Material ® Zinc alloy(ZDC)

Finish eSatellite chrome plating

Specific Use @ Medical equipment, airtight doors, other
various boxes

MMEABROEETEL,

134.4

2X2-25.2X¢p11IMK}
N
N

AB-1007-2

NYRVDOALIFBRIIE T ITEL ETERICEETEET.

HH) DR BRI Eirtatesn E s WShEg) ALot& %ric'e.llﬁ

AB-1007-2 398 ¥1,950

 BAMEEZOFET

ZEAR/ > RIL

HANDLES FOR AIRTIGHTNESS

SAB-1008 (SUS)
W # emABEANTEEY,

Feature @ 27 L AW THEMICBNTUVET,
o L HRFARTY.,
® |t can be powerful seal.
® Stainless steel handle has excellent
corrosion-resistance.
®For both left and right use.
#  HE eRXFULA(SUS304)
FMELIE @ SFE/NTHRE
] i= o FERs ERANS ZHARE COMEERY
IR
Material @ Stainless steel (SUS304)
Finish eMirror finishing.
Application ® Equipment for kitchens, medical.
Doors for sealing and control panels,
40 _ _ 45 _ (52) etc.

(6)
© L
o) - gil
[e0]
83 {@ NI I
) |_
A \ |
D) ?
o
© (40) | 20 | © 1)
4
g/ 1020 |10 20
g i 28
& ! O B &) A B B
o\ | Product No. Weight Lot Price
F_a;' SAB-1008-1 606 ¥5,500

46

AWBAKLE

N BRI

avy




#l
AL
&
#
-
#

N BRI
avy

FLAT HANDLES

ISIZE/ RV (FHRE &)
AB-51~53-3:-AB-51R~53R-3

B B eLEAFAR (EADEEIR. EHEERRLTT
Feature x0Y,)
OMfF&BE LY L THYET DT . BRI EED
BHTEANTY.
OREAVDTFY A &) _a—F7ILT.RE>Y
PUSH® g {EEEmSHEL .
XATU Ty —TCTRYDITBEEEETT .
BWAB-50-3-AB-50R-3 (DF&HZA 7/\RIL)
@ DEAIPEEERE B DI EICEOT . R TEET .
O ENEEHAETHRRE LT THREET HERD
FARAICEFITY .
(I —APHNTVWET DT RO [EIEAIK
EHA—BThHIPUET,
o[ | ~FHOPEN. [BA] ~#RCLOSEDRREX>
TVLET,

® For both left-hand and right-hand use.
(The left-hand or right-hand use can
be changed by reversing the cam and
stopper plate)

® Mounting bracket is set so that
installation is easy and convenient.

® The renewed design of the button, it is
more enhanced operability of the button
PUSH.

%It is also possible to install by bow! washer.

_ _ HAB-50-3-AB-50R-3 (HANDLES OF THE

AB-52R-1 KNOB TYPE)

® By rotating the knob, you can lock and
unlock.

@ Without the key, it is useful to the
opening and closing of the housing for
locking and unlocking only parties.

® Lock/Unlock states of the knob can be
checked at a glance by indicator.

e It becomes the display of Red(OPEN)
and Green(CLOSE).

# #H oINS E (ZDC) @ AB-50RMDARAER,/Hils
FENE e YFZAhyOLDHOE
] i# e ELER-HER-HIHR Z0m&EEBOX
fi % oF—%5 'H200
Material ®Zinc alloy (ZDC)
® The button part of AB-50R / resin
Finish eSatellite chrome plating
Specific Use @ Electric distribution and control
panels, etc
Remarks @ Key No / H200

AB-51-1

AB-53R-2
AB-51/M5X10P4
AB-52-53/M4X8P3
s
stopper plate
N AB-51/M5X10P4
ik PREERS ﬁ AB-52-53/M4X8P4
Locked Unlocked /Q__
*—%2,H200
Koy Mo AB-53-3  AB-53-3 %ﬁ
iyt
2 B % % B 2@ A B | B M@ 1 BHR
Product No. Remarks Weight Lot Price / T Installation plate
AB-51-1 |AB-51R-1| g@fix 371 40 ¥2,000 ‘
AB-51-2 |AB-51R-2 L 363 40 ¥1,800 ‘
AB-52-1 |AB-52R-1| $fiz 230 56 ¥1,800 | HYN
AB-52-2 |AB-52R-2| L 227 56 | ¥1,400 s nstalation
AB-53-1 |AB-53R-1| #fix 171 80 ¥1,600 ‘
AB-53-2 |AB-53R-2| st 163 80 | ¥1,200 \
% AB-52-3 |AB-52R-3 [##EL-DEHfF| 236 56 ¥1,700
AB-53-3 |AB-53R-3 |#fEL D&t 177 80 ¥1,500
KIEIBEOEET LN,

47




AWBAKLE

AB-51-1-AB-51R-1 &—with key W et
-51-2. - - ) TR N RN
AB-51-2-AB-51R-Z@-mwithout key 495 655 Dimensionlof mounting hole w4
. 6 17 . - -
324 (6) t3.2 95 18
. | _4M5x10 y 2-94.27%
1 Ly =
ENERP [ /N ENE |
| AL A = |
1 A e s )
‘ // e -" o H !
‘ - ( ) J‘\f‘/ / |
| </v 345 X/ | ~|
‘ X RN 0 ‘ — N
D § \C kg ABN-1 N Y 8|8 N e
N i U (@32 | ess) 18 al\a |
| Stopper plate ‘ \
LT E::I \
‘ T migon NA © |
I Installation plate |\a=Z/) g < i
‘ 3 -l F
(58) 165 26 27
' H200& % — _
@ Key No. -RAEAEREL. t2.8mm
Max applicable panelthickness is t2.8mm

AB-51RDERZEZBFIIK
The button part shape of AB-51R

AB-52-1-AB-52R-1 x—with key
AB-52-2:-AB-52R-2 ¢-mwithout key/ AB-52-3- AB-52R-3 (o4t

WA FRTE

Dimension of mounting hole

30 6) 125 2.3 48.5 61.5 .
8.5 20 - o) N
| ] 2-M4x8 % (2«»3.2/\ = j
] H >/ -
PR i R ‘
| , PN = o
| A ALY “ I
I e =7 ~ o
| ad | NI o) ) }
. } i ; 0
|l Lakeles H
A ™ | k&% /ABN-2 a4 8| |
\Tj ' - I (t2.3) | | e ‘
| a Stopper plate | (20.5) 18 |
AR \ ‘ !
} T Installation plate @ 2|
DEHER —— © \TJ
< -/
‘ @ r‘ 52) |12 23 ”
AB-52RDARE2ERASIR . =
H200%&x— -RAEAEREL. t2.0mm
The button part shape of AB-52R  Ap.52~53-3 Key No. Max applicablz panelthickness is t2.0mm
AB-52R~53R-3
I AB-53-1:AB-53R-1 +—fwith key
AB-53-2:-AB-53R-2 -mwithout key/ AB-53-3° AB-53R-3 (o4t S,
N AR
28 6) 125 123 285 615 Dimension of mounting hole
2-M4x8 8.5 20 63277 Q,QP‘
| || |
i H >— &)
[/ | \\ 0 [1 Vi 8] B ‘
: AT g |
7 s W _ o I
b-SP* A H
@ 3 N i | N 5? ’/ g ‘ Q 3
| 10 ANV 18 B |
| A S 12.3 H 4 \\\J ’ @ |
i -j\Stopper plate ‘ (05 e
< N+
W 26) |12 A L3R 23
\ J/ Installation plate 24
L AB-53RDA% BRI H200&E % — T ——
The button partnshape of AB-53R Key No. BB AR AREZI. 12.0mm

Max applicable panelthickness is t2.0mm

48



SN

FLAT HANDLE

AB-21~23

@PAT.PEND.

I SEE/NRIV (FRE447)

B # e EAFMRH (EANEER. LHEEERLETY)
Feature @ A% DI TAV—METHA
o AAEMIF—AMEL>THYREUEFTHEL =,

@ For both left-hand and right-hand use.
(The left-hand or right-hand use can
be changed by reversing the cam and
stopper plate)

o With the fashionable arc design

o With the integrated design of handle,has
improved the security

#  H e@$ps{% (ZDC)

FELIE e FSAMN/OLDHOE

B & oERER-HER TOMmEEBOX
fii = o x—%S 'H200

Material ®Zinc alloy (ZDC)

Finish eSatellite chrome plating

Application @ Electric distribution and control
panels, etc

Remarks @key no / H200

NI

avy

% =8 5@ A %] ¥ @&
Product No. Remarks Weight Lot Price
AB-21-200 fE 322 40 ¥2,300
AB-22-200 AB-21-2 PIEL 327 40 ¥2,000
AB-22-200 b 193 56 ¥2,000
AB-22-2 BEL 190 56 ¥1,400
AB-23-200 BT 143 80 ¥1,700
AB-23-2 REL 130 80 ¥1,200

*—%%S H200
Key No.

AB-23-200

49



AB-21-200 -t with key

AB-21 -2(#——%)Without key 495 65.5 .HR_H‘HT\'_‘TJ"}E . L
32 38) 17 132 . : Dimension of mounting hole avy
9918 o pa2%
2-M5x10 =
o N 7 iz ﬁ{ N ~
I N ~
~ | S YA N
P S o4 ]
'/}<(57 |
. ,,) |
V\v N ‘ (o\ol 34.5
< 1 -
N - [l [
o 18
i @ \ |
U @
f | (t3.2) -
L =
¥ \ ©
S
31115 H200&%— _
: 26 = s
BhAT Y+ 2-M5x6 K -RAEAERE L. 12.8mm
(58) 15-@ a4 eyno Max applicable panelthickness is t2.8mm
AB-22-200 &t with key
AB'22'2(4’-—#)Without key 485 61.5 WE ot
28 (3.8) 125 2.3 Dimension of mounting hole
8520 ounom
2-M4x8 W[ S
N — S
71 A o
I
| N o
| 5 0
. S 35 V%
[ h \, \!
. CH|| o
—— 18
| -1k % /ABN-2 205
\l/ (t2.3) (209 @
[V \
~ | . o
<t N+
sh ATy —
8.1l 4 -BbATIY 23 oMaxs H200EF—  -BAHEAREREI. t2.0mm
(57) 12| Key No. Max applicable panelthickness is t2.0mm
AB-23-200 &—hwith key
AB-23-2 +—m without key
MBIt
28 (3.8) 125 123 23.5 61.5 Dimension of mounting hole
8.5 20 $3.27%

2-M4x8

(10)

\
20

94X 10

\Jt&)ﬁ/ABNGT

T — (12.3)

84
B A
'¢'I:I -

72

s
(20.5) ©| <~
. 2-M4x5
3 L4 “-BbATvIv B AEAFERE, 12.0mm
(26) 12J H200%F*—  Max applicable panelthickness is t2.0mm
Key No.

50



BEKAEI OV I\ RV

WATERPROOF LOCK HANDLES
AB-81~83

WO ORDDBIKMERE (F T BK/NYFER).
Feature e fr#3kFIakEt (AB-83)

#
3
[
=
B
#

NV RV
avy ® Waterproof (using O-ring and sheet
packing)
® For both left-hand and right-hand use.
(AB-83)

#  E eHEHiRASR(ZDC)
FENIE @ yOLHoE
B & eBAFi1—-EVI-BEER FTR-FER ZOME

#EBOX
i % oNZRILIZERAF—/\>RIL(AB-80-H) (BI5EY)
ZZERALSESLY,

Material ®Zinc alloy (ZDC)

Finish eChrome plating

Standard Color ® Outdoor cubicles, electric distribution
and control panels, etc

Remarks @ Key AB-80-H is sold separately.

AB-83 m & B E(g) A Bl
Product No. Weight Lot Price
AB-81-L 320 60 ¥2,000
AB-81-R 320 60 ¥2,000
AB-83 122 210 ¥1,000
AB-8 1 'R(EBF]?—S)Open to right
AB'81 'L(El’iﬁ%) Open to left 18 222 6
60 WEES (13) $59
Adjustment washer
M6 x 14 Bk Sy s
, Waterproof - o
\% ) packing ~
. Q
WA HE _ ; Fvh(M22) S
Dimension of mounting hole E&fEeS | HEfEeSe == Nut
(£BI%) L (HBA) [ ! s (35)
Turné5 Turné5 [ =77
(open to left) (open to right) — [ Ring washer
AB-81-L AB-81-R 1§ b
o B/ Yo% /1.0
I Waterproof packing
[
o — /\>RJL AB-80-H
o e — ,/ ,L/ Handle
o X EAEMREIR. 19mm |
Max applicable panel thickness is t9mm \ (68)
1 AB-83
$32 1419.5 25 =mepe4 (11)
Adjustment washer
M6 x 14 L NAVE SN
i - Waterproof —
\ ol ] packing = >
W stk E&AE0° | A ) # LR Cam plate S
Dimension of mounting hole  (ZRIZ) (HRZ) g
Turn90’ Turn90’ // Fvh(M22)
(open to left) (open to right) I Nut
5 ! V2T Ty
I Ring washer
N ZN—H—(t1.6)
L Spacer
[ P
/ ! Bh7k/¥y%> /11.0
/, / Waterproof packing
o AEAREREIE. t9mm e
Max applicable panel thickness is t9mm (63) T /H\;nlc\ﬂ): AB-80-H

51



AT L ABBKAER OV /\ RV

STAINLESS WATERPROOF LOCK HANDLES

SAB-81~83

SEE

OB eRDOBIKEE (- T Bk FER) .
Feature o AFAFFAERE
NZEV
® Waterproof (using O-ring and sheet avs

packing)
® For both left-hand and right-hand use.

M H eRFULA(SUS304)

FELE KK RINT
A & eBAF1—EVI-BRER HER FHR FTOME

EBOX
i % eNVNILZERF—/\VRIV(AB-80-H) (5lI5EY)
ZERALSEELY,

Material @ Stainless steel cast (SUS304)

Finish eMain body / Cutting

Specific Use ® Outdoor cubicles, electric distribution
and control panels, etc

Remarks @ Key AB-80-H is sold separately.

SAB-83
SAB-81 & & B & A ® B
Product No. Weight Lot Price
SAB-81 300 60 ¥5,700
SAB-83 144 210 ¥4,700
. 175215 6 ~#.L#R Cam plate
I1SAB-81 $50 EEES (13) ¢51
; ( Adjustment washer |
M6 x 12 ‘
Bk X% g
j"/l‘(M22) Waterproof _7 @ <>\O
WA ?j Nut packing \‘Y/\
Dimension of mounting hole _ N _ o Ay 2
[E#:5E90 E&xAZ90 /J -
po85 (pg%) \L/(Eﬁﬁ%) _ ! /. Ring washer (40)
&5 Turn90" Tum9o® 8 B/ Yo% 1.5
o [/ (open to left) (open toright) —=| |/ ,/ Waterproof packing
Q |
= H
[l /R AB-8OH
o X EAREREIL. 17.5mm / / Handle
Max applicable panel thickness ;!
is t7.5mm 68)
I SAB-83
WA A% 32 17 185 3.3 FAEES(11) $32
Dimension of mounting hole Adjustment washer 18
18.3 /\ gA]E M6 x 12 RhK/ S
m q_ Water_proof 2”0
2 \ w N_ S ALAR(2) Camplate  PACKINg ? V) ’,% o
S El#xfEE90° El#xfEE90° Foh(M22) Nut
% ERY | R /h(M22) Nu 9
Turn90° Turn90° 1>+ Ring washer (32)
o S EAREREIE. t11.5mm lef ieh
Max applicable panel thickness (open to left) (open to right) [5i) CASIE D § )
is t11.5mm Waterproof packing
~ >
F—N\URIL
KEY HANDLE
38 (57) M E eK{K(IK) -#F5F (ABSHIR)
33 3 FREE e /OLOE

‘ Material @ Main body (SS)-Handle (ABS)
M Finish eChrome plating

S

m B B (g A % L]
< Product No. Weight Lot Price
2 AB-80-H 140 40 ¥550

AB-80-H

$S—

52



INEIOY N RIV

i
AL
fig
iR
ig LOCK HANDLES

AB-75-1

B W ekuRMmm
Feature n
N R ® For both left-hand and right-hand use.

ovy #  H emABES (ZDC)

FEIE e /OLH>E

A & oEER /TR i ZoMm&EBOX

fli % eNVKIIFERF—/\VKI(No.075-1. No.
075-2) (RlFEY) ZZERALEEL,

Material @ Zinc alloy (ZDC)
Finish eChrome plating
Specific Use @ Electric distribution and control panels,

etc
Remarks @ Key handle (No.075-1, No.075-2) is sold
separately.
m & B E(g) A ¥ B O{f
AB-75-1 Product No. Weight Lot Price
AB-75-1 64.6 64 ¥800

AT L AN OV N RIL

STAINLESSLOCK HANDLES

SAB-75-1

B O® e khRMANEt
Feature @ For both left-hand and right-hand use.

¥ H eXAFULA(SUS304)

FENE eFE /YIHINMTI

B & eFER SER-HIHE - ZOMmEEBOX

fii & eNVRIEERF—/\VKIL(No.075-1.No.
075-2) (RlIFEY)) ZZERALKIEELY,

Material @ Stainless steel cast (SUS304)

Finish eCover / Cutting

Specific Use @ Electric distribution and control panels,

etc
Remarks @ Key handle (No.075-1, No.075-2) is sold
separately.
m B B (g A ¥ B {f
SAB-75-1 Product No. Weight Lot Price
SAB-75-1 75.4 76 ¥3,600

F—/N\URIL

KEY HANDLES

No.07

¥ H eEHAR(ZDC)
FELE eNo.075-1 /70L&
®No.075-2 "4 FS5(hyOLsHo&

Material ®Zinc alloy (ZDC)
Finish e No.075-1 / Chrome plating
®No0.075-2 / Satellite chrome plating

(1 5) (53) No.075-1
No. 075-2 :

(85)

g‘A
(56)
°
o

© (50) No.075-2
A g m B EW !r(‘g) )\L 24 % i}
. ==!IE E 2 Product No. eight ot rice
No. 075-1 5 No.075-1 76 ¥300
6 No.075-2 30 ¥280

53



I AB-75-1 (&{$%) With cover

NI

avy
(49) (26)
" 6 12 2
930 = (BREE) _2| <19
Cover (open) m
/ —
ﬁ ) L,fuJIE it S
— - N|
i | E P il = AB-75-1
A5 ( =
%8 E90° (A FAE) El%5 78 E90° (ARIE) g
Turn90" (open to left) Turn60 (open to right) - \ \
N
\O F—No. 075-1 W%
L\ Key No. Dimension of mounting hole
1E 8% (Stopper plates)
LB &, P279~283IC18HL THNE T EARRDODERVHEER T,
(FRIEEEFITY)
Stopper plates are placed in the catalog from page249 to page253.
Please select the square hole according to your applications before using.
The drawings below are examples for reference.
o R XEAREREIE. t1.8mm
> Max applicable panel
(@ thickness is t1.8mm
I SAB-75-1 (&f+Z) With cover
(48.4) (24) _
>
$30 = (RIRAE) 6.3 12 2
‘ Cover (open) m

-
M\f\
|

0
=
o

B/ E90° (LX) B2/ E90° (HRIX) g
Turn90° (open to left) Turn90° (open to right) - (I
LS

*—No. 075-1
Key No.

WET T
Dimension of mounting hole

&

o X EAFEREIE. t1.8mm
Max applicable panel
thickness is t1.8mm

54



#l
AL
&
#
-
#

N BRI
avy

BhokOv 27 /\RIL

WATERPROOF LOCK HANDLES

AB-76-3

B O# oD ARELNEEETTY .
Feature @ FRELNDMEAFAICKY. ILHEETOHEREHR
BTEET,
© [h7KFRIGIPX6HHY

®|t can be inserted and removed when
locking

®|t is possible to adjust the distance to
the stopper plate by recombination
adjustment washer.

eCorresponds to the waterproofing
standards IPX6.

#  H e@ipE{% (ZDC)
FENE e Y FSAN/OLSDHOZ-VOLDOEN2TE
B & e/N\EVRIfHE RIBIRENERR
fi % oftEsMLHDE
® F—(3RIFTITT,
NO.075-1,075-2(P53IC1BH) »SHEVLE
(AN
Material @ Zinc alloy (ZDC)
Finish eSatellite chrome plating, Chrome plating
Specific Uss ® Compact control panel, Various vibration
equipment
Remarks ® Accessories: Stopper plate
e Keys are sold separately.
Please select from NO.075-1,075-2
(published on P53).

AB-76-3-2

m & s & B E(g | ¥ ffi
Product No. Remarks Weight Price
AB-76-3-1 J0L®HoE 82 ¥900
AB-76-3-2 | ¥771hyOL®H>E 82 ¥900
HIEDEOBEI—T 1 VMISRIET.
26 $28.5
l_ BOM TS
EABEREIE t1~t6mm

SARESDMEM AT BRMEISOIEDEETONBN AERIEETT,
Can be adjusted to the position of the stopper plate from the mounting
surface regarding assembly method of the adjustment washer.

B HE M14.2mm
@15.8mm
(49) D17.4mm B  Sesd by /—
#35 28 |17.4 EEES 1.6 255 Positioning of the turning
™ (M28) 2#)
[ M6x10

>
g C-48(12.3) <

!
w0 8 | MEEe uoCH) LrEEEESLEET
Bh7K/ ¥y (10.8) &ﬁﬁ\_ﬂﬁﬁo
_ 1. . The stopper plate and
?%,JQ?)-)W‘“‘ 10752 adjustment washer are
(Oth‘}on) available in left or right

use by turning it over.

55



Ov27/\>RIL

LOCK HANDLE

AC-200H-AC-200H-C

AC-200H-C

=
M19

10.5

@26

AC-200H-C

w

AWBAKLE

W B e200FF—THRRIETEET.
Feature e $2(3EfAZERFICIR|T. 90 I,
® HN—{F&EHEY . (AC-200H-C)

®|t can be locked and unlocked with the
200 key.

®The key comes out when locking and
unlocking and rotates 90 degrees.

® Also available with a cover.

#  E eHEiRAS(ZDC)

FENE e /OLDHOE

B & oRER-HER /NEBOXF

fii & eFEHZAMMDANR—YEHL THERTEET.
(CDHBE . EHERHIEIL 1 4mm—18mm)

Material @ Zinc alloy (ZDC)

Finish eChrome plating

Specific Use ® Switchboards, distribution boards, small
boxes, etc.

Remarks @It can be used even if the 4mm thick
spacer is removed.
(In this case, the stopper plate mounting
position is 14mm — 18mm)

NI

avy

m & fis & B EH( A % ¥ f
Product No. Remarks Weight Lot Price
AC-200H 200F+— 63 800
AC-200H-C|200&+—/h/\—fi& 63.5 900

WA R

Dimension of mounting hole

56



INFIVT 7 AF— EEE

PANEL FASTENER

¥ A en—LyYrRIPFTEELTWERZ. TVEYFT
Feature  BARATE.RIEMICBNTULET,

O —TURBBERIFTE B AN N—HEEICKY . &8
HFEEHERDRIRETT .

e Doors fixed with knurled screws, etc.,
can be opened and closed with a single
touch, offering excellent operability.

® Multiple simultaneous use is possible
with the stopper function.

# ¥ o KUF7IN(PAGOE)

A = OENBBROFE-ZOMEERYIR

fis = oI &R B ARILN- MR

Material @ Polyamide (PAGB6)

Specific Use @ Inner door of switchboard-Various other
boxes

Remarks ® With mounting bracket, mounting bolt,
and adjustment plate
padlock shackle

38 m B B H(g) A ¥ -]
: Product No. Weight Lot Price
4 \ f ACP-122 12.2 ¥450
i ©
.y &
j WETRT &
Dimension of mounting hole
9 (87 - ATEBSTHEY[F IS hET,)
WIEREEAHAER 1.0 ‘ — 2T =]
~ o) 27 Ei=|
M‘ SN W | m 14.5
= T QW S R 1.2 : 28
| | & L
N | 7 N
N | 7
EF g 14.5
(5) (27.3) 6 & M3
37 -
EARE
RIZ EAE 15 BE R

{#£F3:0.8~1.8mmxk i
KfEMH:1.8~2.6mm

@ACP-1220EHAE

ZF1KRER

O EBEDISARER% @ ZOEF HEEIF5E ® N*)f%%ﬁl)‘éﬂ%ti
DEATFEL, INFIVEBI BB HERET, Ay N—EREHRL TT &Y,

(FRDZNyIN—EBHFROHEL
[BAIREEZHMEIELET,)

57



BEEEASIROY Y

RESINOUS SLIDE-LOCK

WEfT T B O e DFAMEETIEICLO>TEHEDN AT NUKESE
Dimension of mounting hole Feature [ %9
O /. DEARPEH T IETHANMMBDIAET .

® Stopper plate is slide-locked by turning
the knob.

® And stopper plate is moved 4mm by
putting down the knob.

M E eXfk-L/IN— KRUFIKN(PAB)
o [mExdl, 7RI 74 —IL (POM)
A i# e EEMR-HER-HlHE - ZDmMhEEBOX
=

[ p— fis o HHZEA (R) £ EMZA (L) AHYVEYT DT, AN
EABEREIE. t1.0~6.0mm sty et

Panel thickness applicable to install

Material @ Main body-Lever/Polyamide 6 (PAB)

180°TURN ® Rotating shaft/Polyacetal (POM)
Specific Use @ Power/distribution boards, control
boards, various boxes
Remarks ®Please specify the left or right use
- when ordering.
N <
= ©
v o & = B EE® | A XK B
T T m Product No. Weight Lot Price
S “T:v:H ACP-100-AN(L) | 22 ¥450
w i ACP-100-AN(R) 22 ¥450
I} STROKE (8)
2 |
% 21 J L 7.8

WERAA  Example of application

AhE-7(8) Z bO—7(4)

DEAIFEFTIET
FAmmiFH A E T,

27V g0vy

SPRING FASTENERS

¥ O eNRIICFERAIN.BELEITTY.

Feature ® |t can be used on a panel, type without
a key.

# H emita®

RENIE 0 BB

Material ®Zinc alloy(ZDC)
Finish eBlack plating

m & B H(s) A B L i
Product No. Weight Lot Price
AC-88 53 ¥350

INFIVRBRAVG ST
Panel drilling dimensions

58



HEMFOv I /N\RIL

H
L
fid
=
% LOCK HANDLES WITH SEALING

AB-75-3

JAYA 92
avy

e

: !i-n'.l\-':'.'"i;"l

atl /

ST
o

W{ERBI Example of application

(49) 26
30 k) 6 |12 2]
| Cover (open) ﬁ . ‘
[ gl _
AV ARI I—— 1 i1/
,\ .\ opupory / T _:I_ =
| — U
[Fl#x/AE90° &z /A E90° s \ |
R%) \J_/(?EE%%) gl ! \ 115
Turn90° Turn90° \\ \
(open to left) (open to right) | \ O —*\——é\‘lac))/. '335-1

AAVEINRIV

ANCHOR-SHAPED HANDLES

B @ eHETIEN KT,
Feature ez #RRAT

® Can be sealed.
®For both left and right use.

¥ H e@ita® (ZDC)

FENE e R O LHOE

] i# o FEMR - ER-HIHE-FOMmhE&EBOX

o \NILIZFEAF—/\RNIV(No.075-1,075-2)

(B5EY)) 2 ZERLKEEL,

Material @ Zinc alloy (ZDC)

Finish e@Aventurine chrome plating

Specific Use ® Power/distribution boards, control
boards, various boxes

Remarks ®Please use the exclusive key handles
(No.075-1, 075-2) which is optional

extras.

s & B (g A B B i
Product No. Weight Lot Price
AB-75-3 64.6 68 ¥750

MR~
Dimension of mounting hole
19.5
=3
N
o\

o XEAEMREIE 11.8mm
Max applicable panel
thickness is t1.8mm

SEMI STOCK El:ll:ll'-l

AB-60-1~3

% B eEERMUTT.
Feature " g Both left and right use

¥ H e@iAAR®

FELE e/OLSHOE

B i e/NEUEE-FIfHAE-FHAKER D/NEE

fii = oMRMIIDZHEMHDOEICTIHER T,

Material @ Zinc alloy(ZDC)

Finish @Chrome plating

Specific Use ® Small equipments, Consoles, Measuring
instruments

AB-60-2 AB-60-3 Remarks ®Please confirm it to actual products
about market products.
e E 1E &4 (Stopper plates)
Stopper L2 L1 1EH2 I3 P279~283(l1B# L THNET BABADHBDERUEMERA T,
Plate W (FRIFBEHTT)
tL4|Lls Stopper plates are placed in the catalog from page249 to page253.
" ’" Please select the square hole according to your applications before using.
r \ The drawings below are examples for reference.
iR QD)
AEEEAI0°
Turn90°
l«—(open to right)
ISFIVRBAGTiE 3 ! >
Panel drilling dimensions <>
N
Ho ¢17.2 p17.2
N = BE(g) | ¥ ffi
{7 3 SO W1 (W2 | L1 | L2 |La|La| t |Hi|H2| ¢ | N |28 | T .0
a AB-60-1 | 39 31|18 7| 9]25[3a]13]| 2 [22] 74 ¥700
= - -60- ¥ ¥
EEGOES EEEOBE AB-60-2 | 33| 7 |30 |16 | 7 7 2 134 |15] 2 |22 62 600
While turn left While turn right AB-60-3 | 28 21 116 |45 7 2 | 23 (105 25|27 42 ¥440

59



#
i
fg
L3
&8
#

A %
avy

P.4-P.5 | AB-153-1-1~3

RS AB-153-1-1S

P.9-P.10| AB-153-1-1~3W

P.11 | AB-103-1-1/2

i
|
o | |
i =
|
! AB-151-2-1 AB-251-1-1
|
3‘2 P.4-P.5|AB-151-1-1~3 | P.13 |AB-251-1-1/2
P.4-P.5 | AB-151-2-1~3 | P.13 |AB-251-2-1/2
P5 |AB-151-1/2-1S
‘{_ ) ) r—
{
!
\ AB-152-2-1 AB-152-1-1S AB-152-1W AB-102-1-1 AB-252-2-1
| P.4-P.5 [ AB-152-1-1~3 P5 |AB-152-1-1S |P.9-P.10| AB-152-1-1~3W | P.11 | AB-102-1-1/2 P13 [AB-252-1-1/2
i P.4-P.5 | AB-152-2-1~3 P5 |AB-152-2-1S |P.9-P.10| AB-152-2-1~3W | P.11 | AB-102-2-1/2 P13 |AB-252-2-1/2
¥ i P.8 |SAB-152-1
|
i
i
|
30
ABP-252-1 AB-252-2-1W AB-252-2-3W
P.15 | ABP-252-1 P.16 |AB-252-1-1W P.16 | AB-252-1-3W
P.16 |AB-252-2-1W P.16 | AB-252-2-3W
\‘
\
\
|
0 \
ol |
oo
\
|
| AB-153L-8-2-3 AB-153L-8-2-1N AB-153L-10-2-1 AB-153L-10-2-1W AB-153L-8-2-3W
| P.4 |AB-153L-10-2-3 P.7 |AB-153L-10-2-IN| P.7 |AB-153L-10-2-1| P.9 |AB-153L-10-2-1W| P.10 |AB-153L-10-2-3W
30 P.4 |AB-153L-8-2-3 P.7 |AB-153L-8-2-1N| P.7 |AB-153L-8-2-1 P9 |AB-153L-8-2-1W| P.10 |AB-153L-8-2-3W
i
|
!
o |
o 1
- !
|
!
| AB-153-1-1 AB-153-2-1S AB-153-2-1W AB-103-2-1 AB-253-1-1
27

P.13 | AB-253-1-1/2

P.4-P.5 | AB-153-2-1~3

R5 AB-153-2-1S

P.9-P.10| AB-153-2-1~3W

P.11 | AB-103-2-1/2

P.13 | AB-253-2-1/2

P.8 SAB-153-1

P.13 | AB-253-1/2-1S

60




#
3
[
b
#B
#

VAN 2
avy

AB-402A-1 AB-402A-1W AB-402A-3W AB-402-1
P.25 | AB-402A-1/2 P.27 | AB-402A-1W P.27 | AB-402A-3W P.29 | AB-402-1/2
P.29 | AB-402-1B
P.31 | SAB-402-1/2

0
[<°]
o5 AB-154-1-18 AB-254-1-2
P.4-P.5[AB-154-1-1~3 | P.13 |AB-254-1-1/2
P.4-P5 | AB-154-2.1~3 | P.13 |AB-254-2-1/2
P.5 | AB-154-1/2-1S | P.13 | AB-254-1/2-1S
5
i\ AB-461-1 ABS-460-1 AB-261-1 AB-301-1 AB-331-1
| P1 [AB-461-1/2 P.1 | ABS-460-1 P.17 |AB-261-1 P.19 [AB-301-1/2 P.23 | AB-331-1
\ P.3 | AB-460-3
~ | P.3_ | ABS-460-3
- |
|
|
|
i
27
AB-401A-1 AB-401A-1W SAB-401-1 AB-401-1B
P25 [AB-401A-1/2 | P.27 |AB-401A-1~3W| P.29 |AB-401-1/2 P29 |AB-401-1B
P.31 |SAB-401-1
\l ABS-462-1 AB-462-3 AB-262-1 AB-302-2 AB-332-1
| P1 | ABS-462-1/2 P.3 [AB-462-3 PA7 |AB-262-1 P19 [AB-302-1/2 P.23 | AB-332-1
| P.1_|AB-462-1/2 P.3 | ABS-462-3
© \
(] i
|
|
| .
| Ll
24

61



24 AB-463-1
P.1-P.3 | AB-463-1~3
P.1-P.3 | ABS-463-1~3
&,
K
% __
= | ¢
s
|
\
RS
|
|
| AB-351-1 AB-51-1 AB-21-200
| P21 |AB-351-1/2 P.47 | AB-51-1 P.49 | AB-21-200/2
B P47 | AB-51R-1
37
X
] ¢ .
!
| ©
R
i
!
_‘?!, AB-352-1 AB-52R-1 AB-22-200
P21 | AB-352-1/2 | P47 | AB52.1~3 P.49 | AB-22.200/2
24 P47 | AB52R1~3
X
P ot
i ¢ (
Lt - \ (.
RN
|
| .
\‘J
AB-353-1 AB-333-1 AB-53R-2 AB-23-200
24 P21 | AB-353-1/2 P.23 | AB-333-1 P47 | AB-53-1~3 P.49 | AB-23-200/2
P.47 | AB-53R-1~3

™
©
AB-453F-1 AB-303-2 AB-403A-2 AB-403-2 SAB-403R-1
ek P.18 | AB-453F-1 P.19 | AB-303-1/2 P.25 | AB-403A-1/2 P.29 | AB-403-1/2 P.31 | SAB-403R-1

P.29 | AB-403-1B
P.31 | SAB-403-1

)

©

62

#
i
fg
L3
&8
#

A %
avy



#
3
[
b
#B
#

VAN 2
avy

>

ABV-901R-1

AB-901R-1W

AB-901R-1/2 SAB-901R-1 AB-701-1
P.35 |AB-901R-1/2 P.37 |SAB-901R-1/2 P.39 |AB(V-G)-901R-1/2| P.37 |AB-901R-1W P41 | AB-701-1/2
P.39 |ABS-901R-1/2 P.41 | SAB-701-1/2

AB-901RS-1

AB-901RC-1 SAB-81
P.33 | AB-901RS-1 P.33 | AB-901RC-1 P.51 | AB-81-R/L
P.52 | SAB-81
&
1
|
|
I
AB-902R-1 ABS-902R-1 ABG-902R-1 AB-702-1

P.35 | AB-902R-1/2

P.37 | SAB-902R-1/2

P.39 | AB(V-G)-902R-1/2

P.41 | AB-702-1/2

P.39 | ABS-902R-1/2

P.41 | SAB-702-1/2

AB-903R-1

SAB-903R-1

SAB-703-1/2

AB-703-1

P.35 | AB-903R-1/2

P.37 | SAB-903R-1/2

P.41 | SAB-703-1/2

P.41 | AB-703-1/2

P.39 | ABS-903R-1/2

P.39 | AB(V-G)-903R-1/2

AB-75-1

ACP-100-AN

P.68 | AB-75-1

P.58 | ACP-100-AN-L/R

P.53 | SAB-75-1

P.56 | AB-75-3

63



H200 AB-461 BEKSEERA T NRIL P1

AB-900R LAEYBAZK ARV P35

AB-150 B ' XA T NRIL P5

SAB-150 RT L ARBKFEBRA T INARIV P8

AB-150-1W ZEOYIRAKEERA T NIV P9

AB-100 BEKSEERA T NRIL P11

AB-250 REKFEERAT IRV P13

Q\ ABP-252-1 HHRESUBHKFEER AT N RIL P15

&)\ AB-250-1W ZEOYIRAFEERA T NRIL P16

,/\ / ABS-461 REKFEAAT IRV P1

LS, AB-330 BEKSFERA T NRIL P23

ABP-900(V-G) LBV RS/ RIL P34

U SAB-900R X7 L ZALERRAK AN R IY P37

ABS-900R LESRHAKNRIL (L IN—2 k) P39

AB(V-G)-900R LEYRHIK NIV (AT B 5E) P39

AB-901R-1W ZEnyILEREKANRIL P37

AB-901RS-1 LEINRIL (AT —5—1iT) P33

AB-901RC-1 LEINRIV (AT —5—1F) P33

AB-700 LEIRHIK NIV P41

SAB-700 2T L ZLBIRGIK AN ARV P41

AB-800 LEINEINRIL P43

AB-460/462/463 REKFERRA T INRIL P1

AB-260 BEKFRAA T NI (AT — 211 E) P17

AB-453F-1 HEMTERFERR TN RV P18

ABS-460/462/463 REKFEAAT NIV P1

AB-300 REAGERIFE XA LT NRIL P19

AB-350 BEKFEAA T NIV P21

\J AB-400A BEKFEAA T NRIL P25

AB-400A-1W — &0y IBKFEA T NI P27

AB-400 BEACERISEE 12T N RV P29

SAB-400 27 UL ARAACERI SR XA T NIV P31

- SAB-403R-1 2T L ARBKFEERA T INARIV P31

AB-50 FENARIV(FAREZZAT) P47

AB-50R FENARIV(TARZZAT) P47

AB-20 SEENRI(FRE21T) P49

AC-200H,AC-200H-C Oy RIL P56

H500 AB-900R LYK NRIL P35

ABS-900R LEIRHIKNRIL (S0 ) N— ) P39

“ AB(V-G)-900R LEYRHIK N RIL (AT B 5E) P39

Vs \ AB-901R-1W ZEOYILERKARIL P37

L ! AB-700 LEIRHIK N ARV P41

S§C2000 .~ AB-151-1S~154-1S Bh7KSEE R A7 1\ RIL(SC-20003)—X) P5

[ W AB-100-1S BiKFEZA 27 /N RILSC-20002—X) P11

AB-253-15~254-1S REKFEEZ A 1N RIL(SC-200091)—X) P13

NO.075-1 7§ NO.075-2 AB-75-1 NSOy T IRV P53
Fe— —. e

(= (- _\ SAB-75-1 27 L RANEIR T NI P53

' Y f/ AB-76-3 BAKEy 7 /NARIL P55

S AB-75-3 HEMFEOYINRIL P59

H9?01 ABP-900(V-G) LAV RS /N RUL P34

»

7\

AB-80-H AB-81 BAAKALEL Y7 /NRIL P51
~ AB-83 BEKAEIOY 7 NIV P51
~ SAB-81 ZF UL RBAAKRAEOY 7 NIV P52

SAB-83 RF L ARHAKAEOY T INARIV P52

64



i
AL
&
#
-
#

JAYA 92
avy

SC2000

200 B —IcEbodtF1UT(F—

L

t¥aUr7rmEE!

EREOBLV200FF—cH ) . SC2000&F+F—
TEETZEICKY., EF2UTrmLEERKZED
FIBETY, BICHBTHIM—F—EHABLTHUF]
BEHEHEDYEEA.

F7/z. SC2000 HEF—Z=HETCZZ/\V NILHE
EICRYBATNET,

EV&2 TS5 1EE!

B2 TS —BE0R. BOKE
EZLDBBRDEHTY,

hEELY
AL—Z

DIN—=2T ) F—!

FHEES v v R —{F&EDUN—
TIF—TT,

Yy a—f{ET
EXRY
AWz

200 &% — SC2000 &% —
? REBRD 1.' RoE
ERMERY :’;’ UPIH
H500

200FF—ICEDLBEF2UT 1+ — (LENVNIVER)

8

%1UF(HE!

EREROEL 200 FF—(cAH Y. H500 %4’——'6%
BYSFICKY, EF2UTrmMEZRZEDFRE
T, BICHBTHM—F— %%ﬁibf?ﬂ)ﬂﬁlﬁ%%
DYEREA, /oo HE00 HEF—ERETEH/N\UR
IWHEEICRIHATOET,

200 Fx — H500 #&* —

L
RN

722 UTHeEREE !

H500 &+ — I3 DFR. +—%4]
LD SRETHHEAZRME. €D/
. TEREANDR2EZSH/ML
HAEBRDTNWET,

*— ’&ELJAT.: ﬁbtb‘b@‘f

(ore

UN=2T0F—!

HEES v v X —{F&ED ) /N—
STINF—TT,

SryB—fHET
EPHEAANICCL

65




mE S u 2y

COIN LOCKS

AC-110

#
AL
B
#
o
#

# ¥ eRHIHIAE (C3604BD)

FMELE e yOLMHOE

fii =Z 0 2HFREDEDEHYET

Material ®Brass bar (C3604BD)

Finish eChrome plating

Remarks @ Cam lock which key can be removed in
two direction is also available.

A %
avy

2HHRF

6.3 174

5.4-31

M7X0.75

3\
NN

AN
0 il
=4

4. | ISRIVRBAG T
15.8-31 Panel drilling dimensions
m & B =(g) A B i
Product No. Weight Lot Price
AC-110 67 ¥950

I N\FOVY B

MINI COIN LOCKS

AC-140-1~2

B W emI/\yMEH
Feature 1. GRDN\BOY5%, “EYNELOY ST,
2 2DFHREDLDLBYET,
S 3. LDRHMLFE. RS TT.
4.LHREANDPABTECABSAEDPZONET

® Extra compact design

1 Compact coin lock which miniaturized a
former one with two times.

2 Cam lock which key can be removed in
two direction is also available.

3 It's possible to install with installed

\ stopper plate.
f,?ﬁ%;z{;{;%%ﬂ_e 4 It can be changed turning direction by
other stopper plate.

# ¥ e%fH(C3604)
FEIE e /OLMHOE

Material @ Brass (C3604)
Finish eChrome plating

10.5

25

INFIVRBRAG ST
Panel drilling dimensions

=

M12x0.75

N~ I W l__ | ©
SI @ - m & B H(g) L La B i
Product No. Weight Price
/ AC-140-1 27 4 10 ¥900
30 AC-140-2 27 2 12 ¥900

66



i
AL
&
#
-
#

JAYA 92
avy

HLOvY 4|08

CAM LOCKS
AC-141

/O eOVNIMMUNT YA —§ET. FIENEHERICE
Feature [ CTUL\XT,

o {#ld. 120° BT, MEgErF D AHkEL TEFTY,

O ILHEETELICTBE. LA T THEATEEY.

e |t's fitness to compact cylinder lock to
all kinds of mini instruments.

e Key can be inserted(or removed) by
120° turning.

e If turn over stopper plate, usable for
L type.

M B emEIMAIF VAL

FELIE e /OLHOE

B & eLIAR—J—RA-BRER - AF—IRE-LIRAE—
Oyh— ILN—4—%F, fth

A i & 02HFIRZIIHERFEA.

Material ®Zinc die casting

Finish @Chrome plating

Specific Use ® Register cases, distribution boards,
steel furnitures, cash resgisters,
elevators, etc.

Remarks @ Key cannot be removed in two directions.

|

E M18x0.75 B

=

18 (17.4)
s o] &
g
(38) 7.6' 82 :Eg,d r? = Wi!h(tg) AL t& % o
lf*)bﬁrﬂcfji roduct No. eigl Of rice
2 1112/ t2 Panel drilling dimensions AC-141R 38 ¥700
- AC-141L 38 ¥700

A—/N\—H L0y 0B

SUPER CAM LOCKS

AC-142

¥ O# eIl /NIRRT

Feature 1 F—[IEVPT L UN=2TIEALT,
2. ItHEZANDABIETHEAMENPAONET,
S.EHEHHOEEE BAHTEETT .

® Extra compact design

1. Key is the reversible type that it is
easy to use.

2. It can be changed turning direction by
other stopper plate.

3. It's possible to install with installed
stopper plate.

#  E e#HiH(C3604)
FENE e /OLHHE

Material ®Brass (C3604)
Finish @Chrome plating

10
25 112,12 .
Nle S 11 ¢18.1
o) . i
: = ) e
548 S .
M18x0.8 ‘ INZIVRBRTE
19.7 3. el 36.5 Panel drilling dimensions
8 7.5.0.1
m & B H(g) A # Bl
Product No. Weight Lot Price
AC-142 51 ¥1,300

67



2vOowyy

2V LOCKS
AC-193

B M 1.ROMAEEELE.3HE124LY. (BA14KE
Feature >/) L
2.8V BRI KB EELEE, Al
B F—BENRT O UN—ITINELT vy
4.YAZ—F—HBETEET, (BATHE400%)

Three direction of twelve pins which
regarded safety as important (Max:14
pins)

A difference of various keys by computer
management

Key is the reversible type that it is easy
to use.

Master key can be manufactured.

(Max child keys:400 kinds)

M ¥ eK{k #iH(C3604)

#
AL
B
#
o
#

7.9 17.4 | 2
- S FEMNIE oAk /OLDHOE
| X B & e BEhiRTTH -5tk - mEH - ZBM. fth
3 E fii £ oLLHRIFRIFVICRVET, FTRICHEEL THUET
o ;| [r DT BRALEDHEZEHEVLIEZ,
% ,, 0 2Pk EIFHEE A
[L Material @ Main body/Brass (C3604)
Finish eMain body/Chrome plating
M19X%1.0 Specific Use ® Vending machines, ticket machines,
1 (35.6) exchange machines, multipurpose use

etc.

Remarks ® The stopper plate is an optional extra.
Please specify the stopper plate placed
on a catalog, following page according
to your application.

@ Key cannot be removed in two directions.

(46.3) 16
m B B H(g) A ¥ B h
Vi \“*)b;‘i‘ F’ﬁ H‘T_'-E Product No. Weight Lot Price
Panel drilling dimensions AC-193 90 ¥2,100

OvoBIEHE 4]0 8

STOPPER PLATE FOR LOCKING
C-B01~05

# B eSS

FMELE e =ffiyOX—hhoE

fii £ e Ov/ICEALTTXLY,
Material ® Rolled steel (SS)

Finish eTrivalent chromate plating
Remarks @ Please apply to the coin locks.

Fiduct r\% gmark#s L |L|LejLs| W W | ¢D]| t 8 wé’iéh(tg) ALot& %riciem
C-BO1 M7H 42 8 26 | 95 19 | 55 | 71 2.6 13 ¥60
C-B02 M10R 44 | 95 | 25 [ 105 21 69 | 97 | 32 15 ¥70
C-B05 M7H 42 8 26 | 95 19 | 55 | 71 3.2 15 ¥70

68



NIy Y L

SMALL-TYPE LOCKS
AC-155

¥ @ e#Bar/NUMEREt.
Feature @ F—(IfE( VT UL\ UN—=2TIRLTITES>TOE
ER
O ItHEZANDABDIETREFMEDAONET .

e Ultra compact design

®The key is reversible type and easy to
use.

®|t can be changed turning direction by
other stopper plate.

M H e%M(C3604)
RENIE e /O0LDHOE
A & e/Eifa-BiRinARR - HARE

i
AL
&
#
-
#

JAYA 92
avy

25 1% - 1.6 Material ®Brass bar (C3604)
~ Finish eChrome plating
105 SpecificUse ®Small sized equipment, Terminal
0 : equipment, Identification equipment
Y i
10
c o | — L LD
5 1 Y ¢p14.2
Jr—E s
152 S|
<~ EC'L') a ‘ ‘ 55 10534 ISFIVRB T
< o Panel drilling dimensions
(0.5) (17.7) 0 Z FohM14) 10.7
19
0
\ & B E(g) Bl
‘- G,f 8 Product No. Weight Price
‘\ / AC-155 18 ¥1,700
(35)
S
[\
a4 >avy

COIN LOCKS

" OB el rya—RiEEARLL BEX1TTY.
Feature o —|JR{FMEICBNIZUN—2T I (BEEAT).
O HIEEBD AT VL AAN—IC K THEEDBRTL
7.

eDust-proof type with a shutter
mechanism.

®Reversible key with excellent
operability (Double-sided type)

®Excellent corrosion resistance by a
stainless steel cover on the front.

B eX{/ENEE (ZDC)
o Xvy /-y a—E8 AT LA (SUS304)
FEE o KE /OLDHOE

Material @ Main body / Zinc alloy (ZDC)
® Cap-Shutter / Stainless steel (SUS304)
Finish eMain body / Chrome plating

A 75 174 126 5.4
==
N 19.5
< 1 19 . :
o @ || |m4 P=07 X .
= - INZIVRE ST
— Jﬂ} T e ™| Panel drlling dimensions
o) .e'
| - 16
1
| (24.1) 4 " 1583
(32) -0.1

m & B E(g) -]
Product No. Weight Price
AC-160 53 ¥1,300

69



m i 8 m BY2y/

COIN LOCKS

M7x0.75

A 53 297

'%’oo
©
N _M19x1.0
(45)

-

INFIVRBISTE
Panel drilling dimensions

NBpOvy

COIN LOCKS

M7x0.75

16
NIV TE
Panel drilling dimensions

SEMISTOCK A RoHS EIEII'-I

L

Feature

@ BITENRVYDUELIBZEICKRETY .

®|t's suitable for long inner size.

" H
RENIE
A &

i %

® %3 (C3604)

e /O L&

o HENRFTEM-mEMR- OOy h— EESR- X—I
Ry A-HEE -5 — L — > REE - BREE-
AREFE-ILN—2—F fth

025 FRZEHYVET . (HOO°DH)

O RIESDHZEIFF— DA ZZIERIEZLY,

O ERIEDIFEIFIEHEEERUICLTTXULY,

O IEHRIFRIFTIICHRYET . 7T6NR—JICIBELTH
WVETOT. BRLEDHEEHEVLLEZ,

Material
Finish
Specific Use

Remarks

®Brass (C3604)

® Chrome plating

® Vending machines, exchange machines,
coin lockers, distribution boards, mail
boxes, control panels, game machines,
storage boxes, alarm devices, public
telephones, elevators, etc.

®Cam lock which key can be removed in
two direction is also available. (90° right
turning only)

®The case that is the same No., please
specify the quantity of a key.

® The case that is the left turning, please
turn over stopper plate.

® The stopper plate is an optional extra.
Please specify the stopper plate placed
on a catalog, 76 page according to your
application.

B B E(g) A # L}
Product No. Weight Lot Price
AC-175-ML 97 ¥1,300

SEMISTOCK A RoHS EIEII'-I

L

Feature

O EHEOBAICKY . LXK TRIFELET.

O 7TAREVIZKY)  FEVHEBEICHNET,

O FEEAICERDF—I—FEERL. it ER
LEWHARZ LY —ERERALTEVET.

0 27 FiREOHIET

®|t's strong with a cylindrical key, and
long usable key

o No. of Key differences is various by
seven keys.

® Exclusive key code by customer is
registered as customer service to
ensure no duplication.

®Cam lock which key can be removed in
two direction is also available.

# ¥ e#if(C3604)
FELIE e /OLSHDOE
A i# e BEARTCIE- e et OARSE /N EVIKER- 28
By, fto
fii = o LHEIFRTIICRYET ., 7T6RX—JICHBELTH
YETOT. BRLEDEEHEVEZL,
Material @ Brass (C3604)
Finish ®eChrome plating
Specific Use ® Vending machines, exchange machines,
ticket machines, OA instruments, small
instruments, multipurpose use etc.
Remarks ® The stopper plate is an optional extra.
Please specify the stopper plate placed
on a catalog, 76 page according to your
application.
m & B (g A B B ffi
Product No. Weight Lot Price
AC-175-SS-1 61 ¥1,100

70



N IN—2VOvYy

HYPER 2V LOCKS
AC-180-1~3

OB e F—(HEREMERICENAEIN-T IV ([@EEECT).
Feature o F—DEAODBEICEKY). hiEF—DBEAPER
ZR#ICL. EF2VT1ZBOHTVET,

® Reversible key with excellent
operability (Double-sided type)

® Making it difficult to insert or duplicate
other key by the structure of key
insertion to enhance the security.

M H eX{K #HH(C3604)

FENIE oAk /OLHOE

fii = oLHEBEFRFTIICRVET, 7T6NR—JICHBEHLTH
WETOT. BALDEZHRVLZZ,

Material @ Main body/Brass bar (C3604)

Finish eMain body/Chrome plating

Remarks ® The stopper plate is an optional extra.
Please specify the stopper plate placed
on a catalog, 76 page according to your
application.

i
AL
&
#
-
#

JAYA 92
avy

=1.0

Ly 1

INZIVRERVIST A
I Panel drilling dimensions
¢16

M19 P

6.6

M oD | Lt | Lz | Ls | (Le) | M | wy |HE® | B 6

Product No. Weight Price
AC-180-1| 29 7.9 174 | 277 | 356 7 5.4 69 ¥3,000

AC-180-2| 25 35 22 33.1 | 366 10 6.8 63 ¥3,200
AC-180-3| 29 6 29.7 | 39.7 | 457 7 54 84 ¥3,300

71



HL ROy o]0 8

KIND LOCKS
AC-183

¥ & 1.ReUzEERLE.2FEO9KEY,
Feature 2 /NI EIEICEDEELHEEL,
3.CNCER#IC K DBIEZINT,
4 ZEFEFLSNE. £ TREES,
5.F—MEOPT V. UN=TILEALT

Two direction of nine pins which regarded
safety as important

A difference of various keys by computer
management

Minuteness processing by exclusive CNC
Key is all a registered number besides the
standard number

Key is the reversible type that it is easy
to use.

#  H e&EiH(C3604)

2 HEINE @ JOLDHOX
§(> H i © BENRFCIE-mE-SE- 7 — LM 286, fth
~ fi = o LHEIFRFTIICRYET ., 7T6X—JICHBELTH
= YETOT. BRLEDEEHEVEZL,
Material @ Brass (C3604)
Finish eChrome plating
Specific Use ® Vending machines, exchange machines,
ticket machines, game machines,
1.0 4 multipurpose use etc.
Remarks ® The stopper plate is an optional extra.

Please specify the stopper plate placed
on a catalog, 76 page according to your

’ application.

46 m m & B Z(g) A # Bl

6.6
\
D
+
21

/\"*)b;‘{ﬁﬁ”-d-% Product No. Weight Lot Price
Panel drilling dimensions AC-183 83 ¥1,800
S CETD
[N}
1>y y

COIN LOCKS

AC-185

B O# 1BaYNUREE

Feature 2 b+ JH%L V. 25M5AEY
B F—RFERTVUN=TNEALT
A pEMICEKY. 25 FHRE D TEET,
5. FBEN-VII2TEHAR,

Extra compact design

Two direction of five pins that theft is
difficult.

Key is the reversible type that it is easy
to use.

Key can be removed in two direction by
special ordered products.

Important parts is made of brass.

#  H e#(C3604)

] FEVE e /OLSHOE

54238, fii Z o LHRIRIFT/VICHVET ., 7T6NR—JIIBELTH

. VETOT.BALDEZEBVZEL,

Material @ Brass (C3604)

Finish eChrome plating

Remarks ® The stopper plate is an optional extra.
Please specify the stopper plate placed
on a catalog, 76 page according to your

M7%0.75

M19x1.0 4 application.
(22)
$19.5
IRIVRBIGTE
Panel drilling dimensions 5 = 2 5@ SO =
365 Product No. Weight Lot Price
AC-185 51 ¥1,200

72

#
AL
B
5
o
#

A 12
avy




a4 >ayy s

COIN LOCKS
AC-186

EC I R iim DA/
Feature 2 b+ JH%LN. 25MEARE
SNV IAVERBICKZEELREE,
4. F—RFERTVUN=TNEALT
5.5 ERICEKY. 20 FTIRE D TEET,
6.XEEN—VIILTHBAR.

Extra compact design
Two direction of six pins that theft is

3
}}/ﬁy\ i difficult.

#l
AL
&
#
-
#

N RN
avy

' A difference of various keys by computer
o, management

/ Key is the reversible type that it is easy
to use.
Key can be removed in two direction by
special ordered products.
Important parts is made of brass.

# ¥ e #if(C3604)

FRMELE e yO0LHE

fi Z o ILHRIFRFTIICRYET, 7T6N—JICBELTH
YETOT. BALDEZHRVLIEZL,

Material @ Brass (C3604)

Finish eChrome plating

Remarks ® The stopper plate is an optional extra.
Please specify the stopper plate placed
on a catalog, 76 page according to your

application.
INRIVRERV T
Panel drilling di i
anel arilling aimensions 2 = B & A B E @
41 Product No. Weight Lot Price
AC-186 62 ¥1,500
~ BiRLS
A\
a4>avy

COIN LOCKS

AC-

¥ @ 1.8BaV NIRRT

Feature 2 BiiBMZERL/z. 2HM7TALEY
3NV AVEBICKBREEREE,
4. F—HEORTVUN=2TNEAT
5.5 EMRICEKY). 25 FRRED TEET .
6.FEN—V I TERFAR,
7. BBERFEERRE

Extra compact design

Two direction of seven pins which
regarded security as important

A difference of various keys by computer
management

Key is the reversible type that it is easy
to use.

Key can be removed in two direction by
special ordered products.

Important parts is made of brass.
Standard for vending machine

#  H e#fH(C3604)

FENIE @ yOLHoE

fii £ oLHEUIFFIFTIICHRVET, 7T6NR—JICHBHLTH
WETOT. BALDEZHRVLIEZ,

Material @ Brass (C3604)

Finish @Chrome plating

Remarks ® The stopper plate is an optional extra.
Please specify the stopper plate placed

M7X0.75

#19.5 on a catalog, 76 page according to your
- application.
/f*)bﬁﬁﬁh‘j‘iﬁ .
Panel drilling dimensions 5 = a8 2@ A B B @
42 Product No. Weight Lot Price
AC-187 64 ¥1,500

73



a4 >ayy

COIN LOCKS
AC-150

B B M eLHEHHLERE BIASEETT,
\ Feature ©%1)y 747 CRIBICRUMISNET. o
* HEAEIEEIO DHTT ., L
o EHE DI IE. AR TEBRA T D2TBEHDE =22
NET,

®|t's possible to install with installed
stoppre plate.

o Clip for easy installation.

® Turning angle is only 90°.

® Please choose set of a stpper plate
from 2 kinds, the A type and the B type.

# ¥ oKk HipE% (ZDC)

FEMNIE KK /OLDHOE

fi = 02DFHRENTEETY,

Material @ Main body/Zinc alloy (ZDC)

Finish @Main body/Chrome plating

WS =R Remarks @ Key can be removed in two direction.
Example of installing reference

AWBAKLE

e e | W BR OB YR
AC-150A-1-1 | 0.7~1.2 o8 ¥600
_ | AC-150A-1-2 | 20~25 PP,
© AC-150B-1-1 | 0.7~1.2 o5 %600
= AC-150B-1-2 | 2.0~25
AC-150A-2-1 | 0.7~1.2 o5 .
AC-150A-2-2 | 20~25 Py
AC-150B-2-1 | 0.7~1.2 o5 .
AC-150B-2-2 | 2.0~25
%
)
ISRIVRERV A
Panel drilling dimensions

e R e ENE:

PADLOCKS
AC-210

B O# eWMAMICEI. BALARTIEAL TWEETE
Feature 4, 15mm~70mmETND 11944 XERMUKEIZT
HYETOT. RIFIZROLEICERLEY A
Wa XEHBEOTE,

@ Excellent in durability, you will be able

RN I M) to use in a variety of applications. There
3 are 11 sizes up to 15-70mm stocks.
Please choose the size that conforms to
N the bracket.
# ¥ eHE
FENIE 0|/ Z v IHoE
fi = oELRITTVBEBRALARIVRBFNDEEVET,
EZXEZFHLEDICLTLEZLY,
o Material ®Brass
Finish eKey / Nickel plating
Remarks ®If used for a long time, it will be
accumulate the dust and dirt. please
wipe off at that time.
Wi Ws
Feliduct E. H1 H2 L W1 W2 W3 AL<? ¥;"riclm F?r%duct r\%, H1 H2 L W1 Wz W3 AL(? ¥;=’ric41eﬂﬁ
AC-210-15 28 | 122 | 170 | 160 | 8.0 9.8 12 ¥1,100 AC-210-45 6.4 | 240 | 325 | 440 | 236 | 135 6 ¥1,800
AC-210-20 35 | 105|210 | 200 | 93 9.8 12 ¥1,100 AC-210-50 72 | 240 | 36.8 | 480 | 254 | 140 6 ¥2,700
AC-210-25 40 | 106 | 240 | 245 | 122 | 98 12 ¥1,100 AC-210-55 72 | 264 | 368 | 535 | 30.2 | 145 6 ¥3,100
AC-210-30 48 | 135|262 | 293 | 146 | 120 12 ¥1,200 AC-210-60 8.0 | 31.0 | 440 | 582 | 323 | 16.0 6 ¥3,700
AC-210-35 48 | 16.0 | 262 | 330 | 184 | 120 12 ¥1,200 AC-210-70 95 | 400 | 51.0 | 685 | 385 | 19.2 6 ¥8,000
AC-210-40 | 64 | 21.0| 325|385 | 204 | 132 | 12 | ¥1,300

74



Fa R i 266

PADLOCKS

AC-220

i
AL
&
#
-
#

¥ @ e200FEF—THEIETZHDT.ROEENENT
Feature 9,
OV LDREHFRVEDEEMLELL. (WTHS
52mm)

e®|t is convenient because it can be
unlocked with the 200 key.
® Some have long shackle. (inner dimension

/—\ i height 52mm)

5 23 M O eARF/EREAR.VI/ATULA

2\ | EELE eztk/7 VI EaR TR
0 B & eRFERfE- ks 2EBOXE
fii % e+—&FS/H200
Material @ Body:Zinc alloy (ZDC), Shackle: Stainless
Finish eBody/Acrylic resin baked finish
Specific Use ®Building equipment, mechanical
equipment, various boxes, etc.

Remarks @ Key No/H200

JAYA 92
avy

34

30
30

Hoshimefio

[Flashimelio

40 40

AC-220 AC-220-L

Key No.

m & i & B H( | ® ffi

Product No. Remarks Weight Price
AC-220 200&+— ¥1,600
AC-220-L 200&+—/VI R ¥1,800

FIR =10 CF

PADLOCKS
AC-5700N-50

19 W O# o2 TOMMPATUVLANT. REKEDHMEE
Feature  {REFLTULETY,

) O ENRERDZ VBRI TOYE BOBRALKEICK
HREICHE EREADOHWARICOHIFEICEBIT
WY, (BAARREREE)

O F—[FUN—2T . RRBBANOAT VL AZIRA

N\ L. BRFRHIFFEPT VOBRES/ -,

® All parts are made of stainless steel
and maintain the highest level of rust
resistance.

® |t is highly resistant to rusting outdoors
or in humid places, and is resistant to
erosion due to sea breezes, and the
metal itself is extremely durable. (outdoor
padlock)

o Key is reversible. Stainless steel is also

L pervcT aTMl used for the metal parts, and the handle

i is made of resin that is easy to hold.

50 17 M H eXEF-VI/ATULA(SUS303)
B & eXBTIVA-miRO-UF I LAV EMTIHE
AC-5700N-50 i % e@I3FtYh
Material @ Body-Shackle/Stainless steel (SUS303)
Specific Use @ Large fence, inspection door, lithium-ion
battery factory, etc.
Remarks @ Set of 3 keys

90
43

38

AT IAKR—=I
HLERA
A7)0vy

m & fii £ | B =g | ¥ ffi
Product No. Remarks Weight Price

AC-5700N-50KA FE—+— 244 ¥24,000

AC-5700N-50 HE 244 ¥21,000

75



A4 >0y VBRI REERE—ER

NI
avy

¢19.5
AC-110 AC-160 AC-175-ML AC-175-SS-1 AC-180-1~3

[ P70 [AC-175-ML AC-175-5S-1 AC-180-1~3

AC-183 AC-185 AC-193 AC-186 AC-187
[ P72 Tac-ies | P [acies [ peE [ACs3 AG 187

| $18.1
AC-140-1~2 AC-141 AC-142
| P66 [AC-140-1~2 [ P67 [AC-141 | P67 [AC-142
14.2
14.2
Qe -
| 5
‘ 10.7
AC-150 AC-155
| P69 [Ac-155

76



XTRBHEUATCIERAINET E ABHROBECHENDEIBEN L IHEN TEVETOT HHTEBEL THYRVE LT EE W,

O Fv FMEOREDHFIEY ) V=T —ZREICBETE LICRETIT > T EEL,
@ Fv MEIZBRG LT TROMIIFEWTIIEEL,

(B FESHE VD)

+ M14~M22 (K+w k) 3.2N-mLLTF (30kgf-cm)

M124+w b (KFw k) 27N-mLUF (25kgf+cm)
)
)

*M10F+y b (hFw k) 2.2N-mLUF (20kgfcm
s M7Fv ks Uy ) 2.2N-mBUTF (20kgf-cm
XZDMIRFEEFVEDE (20,

INNKF Y b

\ A E
@xIOv7E) Y Z—ORFITHALGOLSITLTLIEEL,
@ IEHRITIEEERA R, RUAIEARNOERZ M HENTLREL,

XTRBHEUANTCIERAINET E ABHROBECHENDIBENRZZHENTEVETOT HHIEBE L THYRVE LTS L,

O F—DIREE LIZFAEDME TP > < W EMRITITOTLEEL,
KX —DHREELELEPSEBAMICT > a e FEVTLIEE W,
@ F—Zm2lcE LATLGWRETOREEFIZITHEVNTEL,
GO BR LIcF—EER LBV TIEEL,
@ EFELIF— (HEOTEIE 2D REDTEHED) IFERALENTIIEEL,

©@NEY (FTW. BRF) EALETERRGORERELGN ETDTERZDIFTILEL,
SEBROBHETHE VTS,

kAo 1 AR (F#kRT) & 2 AFRET (AHRT)IZOWT

77

1 AFFRF (B319) 2 ARV (FHRIF)

F—DREELAT DEBEETHF—

& BESBSIEF —IdHh | @.@ (8) D EELHT @'.@n \

2 TEF LA, ' 2ET, ‘

F—ER < el BRI EER

MBI — A DB BB T E

RPN ES AL X 9.

DT ROENF =

EHIETEET, g ﬁ (‘
LS L (ULE==






